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Consider the following table that embodies details about the percentage distribution of
population of five states A-E on the basis of poverty lﬁne and gender. In accordance with the
data in the table, answer the questions 1-5:

State-wise Distribution of Population

. Proportion of Males (M) and Females (F)
State Pemen mpei it ol Pop.ulatlon Below Poverty Line | Above Poverty Line
Below Poverty Line =

M:F M:F
A 35 5:6 |
B 25 3:5 4:5
C 24 B S 253
D 19 3:2 5:3
E 15 5:3 3:2

fefefiad afers w e difsw, fomm sl - 3w st (fom) % 3R @ A 9 E @& & 979 09491 4
e o uferd fereron 2 am o e foan wen 2 | g8 aferr % s (22) % SigEn T 18 599 ¥ I

HFHET 1 T4 a1 famor

e | e & T (M) SR afeen s (F) 1 s
S A (%) [ e - e AL

vl T & 1 e T @ 3w
M:F M:F
A 35 5:6 6:7
B 25 3:5 4:5
c 24 1:2 2:3
D 19 3:2 5:3
E 15 5:3 3:2

What will be the number of females above poverty line in the state ‘D’, if it is known that the
population of the state ‘D’ is 8 million?

(1) 3 million

(2) 2.83 million

(3) 2.63 million

(4) 2.43 million

ws - ‘D’ # wEi-tan | Fw afeensdi fi d@en w0 Eofi, afz 9= 3@ 2 6 sy D’ A sdEn
8 fufersm 27

(1) 3 fufer

(2)  2.83ffeaa

(3) 2.63 fafems

B 9 43 fufepr

1[Option ID=10001]
2[Option ID=10002]
3[Option ID=10003]
4[Option ID=10004]
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Consider the following table that embodies details about the percentage distribution of
population of five states A-E on the basis of poverty lhne and gender. In accordance with the
data in the table, answer the questions 1-5:

State-wise Distribution of Population

. Proportion of Males (M) and Females (F)
State Pemen mpei it ol Poplulatlon Below Poverty Line | Above Poverty Line
Below Poverty Line =

M:F M:F
A 35 5:6 |
B 25 3:5 4:5
C 24 B S 253
D 19 3:2 5:3
E 15 5:3 3:2

Freferfiaa aiferan w0 eam A, Foom wis v s Sk (fm) % s ® A 9 E o= % ui= o= Al
ST o fera fae 3 ar H e fomn e 2 | 39 @ifern & e (221) % SER T 14 5% & I

o

difa;

S ] T AR o

e | A | g () siwfeensi @) 3 s
S F A (%) [ mee .~ s e

RIS T 4 AT TR H 3
M:F M:F
A 35 5:6 6:7
B 25 3:5 4:5
¢ 24 1:2 2:3
B 19 3:2 5:3
E 15 5:3 3:2

If the male population above poverty line for state ‘C’ is 1.9 million, then what is the total
population of state *C'?

(1) 6.25 million

(2) 5.35 million

(3) 4.85 million

(4) 4.5 million

afg g - Y it wEh-ta & I e f sHEen 1.9 fifomm @ @ vsw - f B e Smen
femaft 27

(1)  6.25 fafer

(2) 5.35 fufersq

(3)  4.85 fufer

(4) 4.5 faferaq

1[Option ID=10005]
2[Option ID=10006]
3[Option ID=10007]
4[Option ID=10008]
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Consider the following table that embodies details about the percentage distribution of
population of five states A-E on the basis of poverty ].hne and gender. In accordance with the
data in the table, answer the questions 1-5:

State-wise Distribution of Population

. Proportion of Males (M) and Females (F)
State Pemeniare ol Populatlon Below Poverty Line | Above Poverty Line
Below Poverty Line -

M:F M:F
A 35 5:6 6377
B 25 3:5 4:5
C 24 122 L s
D 19 3:2 5:3
E 15 5:3 3:2

Freaferfiaa aiferan v eam s, Foom wis - s See (o) % s ® A 94 E o= % ui= o=
A o Wfcera fereron 3 s faero fean e 2 | 38 anfee o STl (321) % SER T 18 5% & 30

o

difa;

ST T T AT e

s i (VD A Afeen i (F) o S
S F AT (%) [ e~ W

et e & e Y §
M:F M:F
A 35 5:6 6:7
B 25 3:5 4:5
i 24 1:2 2:3
L 19 3:2 5:3
E 15 5:3 3:2

What will be the male population above poverty line for state ‘A’ if the female population
below poverty line for state ‘A’ is 2.1 million?

(1) 2.3 million
(2) 3.3 million
(3) 4.4 million
(4) 6.6 million

= - A’ i v # R e i s #=0anf, otz asg AT R - | i afeensi 6
e 2.1 fafasm 27

(1) 2.3l
(2 3.3l
(3) 4.4 fufez
(4) 6.6 fufcra

1[Option ID=10009]
2[Option ID=10010]
3[Option ID=10011]
4[Option ID=10012]
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Consider the following table that embodies details about the percentage distribution of
population of five states A-E on the basis of poverty ].hne and gender. In accordance with the
data in the table, answer the questions 1-5:

State-wise Distribution of Population

. Proportion of Males (M) and Females (F)
State Pemeniare ol Populatlon Below Poverty Line | Above Poverty Line
Below Poverty Line -

M:F M:F
A 35 5:6 6377
B 25 3:5 4:5
C 24 122 L s
D 19 3:2 5:3
E 15 5:3 3:2

Freaferfiaa aiferan v eam s, Foom wis - s See (o) % s ® A 94 E o= % ui= o=
A o Wfcera fereron 3 s faero fean e 2 | 38 anfee o STl (321) % SER T 18 5% & 30

o

difa;

ST T T AT e

s i (VD A Afeen i (F) o S
S F AT (%) [ e~ W

et e & e Y §
M:F M:F
A 35 5:6 6:7
B 25 3:5 4:5
i 24 1:2 2:3
L 19 3:2 5:3
E 15 5:3 3:2

If the population of males below poverty line for state ‘B’ is 2.4 million and that for state ‘E’ 1s
6 million, the total population of states ‘B’ and ‘E’ is in the ratio of

1) 2:5

(2) 2:7

3) 3:7

4 4:9

aft 53 ~ B ol el & = gl ) s 2.4 fufeea siwarss - B 6 fuferaa 2@ o B sk
'E’ 1 Fat s o srgora 8 27

a)y 2:5

(2) 2:7

3) 3:7

4) 4:9

1[Option ID=10013]
2[Option ID=10014]
3[Option ID=10015]
4[Option ID=10016]
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Consider the following table that embodies details about the percentage distribution of
population of five states A-E on the basis of poverty line and gender. In accordance with the
data in the table, answer the questions 1-5:

State-wise Distribution of Population

. Proportion of Males (M) and Females (F)
State Pemeniare ol Populatlon Below Poverty Line | Above Poverty Line
Below Poverty Line -

M:F M:F
A 35 5:6 6377
B 25 3:5 4:5
C 24 122 L s
D 19 3:2 5:3
E 15 5:3 3:2

Fafafaa aifesm w e ifae, fomtd s - s sk (ffm) % smam @ A 9 E a4 & gi= 73] 4
A o Wfcera fereron 3 s faero fean e 2 | 38 anfee o STl (321) % SER T 18 5% & 30

o

difa;

S ] T R fad

g | - o gENi (M) 3R afeensi (F) 1 399«
G F AT (%) [ o e - - R
iyl T @ e rifefi T E T
M:F M:F
A 35 5:6 6:7
B 25 3:5 4:5
G 24 12 28
D 19 3:2 5ad
E 15 5:3 9:9

If the total population of state ‘C’ and state ‘D’ i1s 5 million and 7 million, respectively, then
what 1s the difference in the population below poverty line in these two states?

(1) 0.30 million
(2) 0.23 million

(3) 0.13 million

(4) 0.11 mullion

Az 7= - ¢ T - D’ Tt SmEn FAw: 5 fuferm o 7 fifemm R, @t 3 3 oo o -
@ A = i SHEE S R

(1) 0.30 fufer

(2) 0.23 fafam
(3) 0.13 fafe
(4) 0.11 faferm

1[Option ID=10017]
2[Option ID=10018]
3[Option ID=10019]
4[Option ID=10020]
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Which of the following are correct regarding the process of learning?

(A) Remembering the information and reproducing it in examination.

(B) Synthesis and organisation of the old and new experiences resulting
in a novel pattern

(C) Carrying out activities which leave permanent effect on the learner.
(D) Learning means acquisition, retention and modification of experience.
(E) Preparing only for scoring good marks.
Choose the correct answer from the options given below :

(1) (A). (B) and (C) only

(2) (B). (C) and (D) only

3) (C). (D) and (E) only

(4) (B).(C). (D) and (E) only

sferm 1 afspn & wey § frafafaa & @ =9 @ @ 87

(A) AT H ATE FEAT S 3 wlen H gH g HEA

(B) UM SR T YAl % TYSNU R T o iy ey i ded
(C)  SAfnTeRal W TRl T4 Bied 916 @ ™l FI I ST

(D) AT 1 AT IHS T AT, WaEwr 3R IR 2

(B) dd 37=3 3% TTH A o foTg damt s

= feu o ot @ & 92 3T @1 == Fifs

(1)  Fd (A), (B) 3 (C)

() g« (B), (C) 3iF (D)
(3) Fad (C). (D) 31 (E)
(4) %A (B). (C). (D) 3 (E)

1[Option ID=10021]
2[Option ID=10022]
3[Option ID=10023]
4[Option ID=10024]

Sl. No.7
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What is the full form of MOODLE, an open source Learning Management System (LMS)?

(1) Modular Object Oriented Digital Learning Environment

(2) Modular Object Oriented Dynamic Learning Environment

(3) MOOCs Oriented Digital Learning Environment

(4) Multiple Object Oriented Dynamic Learning Environment

T wie stferTn weed wonef! (oo o vH) gEe (vn s S0 € ue ) o el s 27

(1) niggen sissse i fofsea afin varma
(2) UigHeH iedae AME-TE SEATHE a7 warg-iz
(3) g siifere fefaea affn wamiz




@ G n g s <
b Gl I [ e 3 e o | s B R e R

1[Option ID=10025]
2[Option ID=10026]
3[Option ID=10027]
4[Option ID=10028]
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Given below are two statements :
Statement I : Assesment drives learning.
Statement II : No feedback is required to be given in formative assessments.

In the hight of the above statements, choose the most appropriate answer from the options
given below:

(1) DBoth Statement I and Statement II are :_t'orrect
(2) Both Statement I and Statement II are incorrect
(3) Statement I 1s correct but Statement II 1s incorrect
(4) Statement I is incorrect but Statement II is correct
4 g1 e fro Mo E
Fed () 37TeheM ATy =1 Yitd e 2|
F (ID) - TTHF Ao 8 gTaqfe <3 1 sravasda 98 2 1
39 oA o SATerreh H, 4 fou m fasedi 4 8 |e8 39w 30 &1 =9 Fifs
(1) Fud IR I EHT 98 2 |
(2) %A I3 [ EHI e 2 |
(3) &9 T8 2, cifefa Fed T Terd 2 |

(4) A 177eld 2, offehd oA [TadE 2 |

1[Option ID=10029]
2[Option ID=10030]
3[Option ID=10031]
4[Option ID=10032]
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According to Dewry. education is a
(1) Social need
(2) Personal need
(3) Status need
(4) Financial need

T ST e 2
(1) HraTfer SHTEvEFl
(2)  =fFrd ArarEed]
(3) feafq (vezm) sEvasFa
(4) faefra syragasd

1[Option ID=10033]
2[Option ID=10034]
3[Option ID=10035]
4[Option ID=10036]

Sl. No.10
QBID:1501010




Pandit Madan Mohan Malaviya National Mission on Teachers and Teaching has various
components. Which of the following is not a component under this scheme?

(1) Inter University Centres of UGC
(2) Faculty Development Centers (FDCs)
(3) Teaching Learning Centres (TLCs)

(4) School Of Education (SOE)

S1ereRi wE e W uted ued Oied urerE g e o i e ) FofafEa O 8 Fm m e gieen
BreE ik

() g Hi & seafdvafaares w2
@ Pl T % (v & )
(3) fam s %= (4 va )

(@) T aewm (vh sid)

1[Option ID=10037]
2[Option ID=10038]
3[Option ID=10039]
4[Option ID=10040]
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Which of the following are the features of case study method?
(A) It is appreciative

(B) It is particularistic

(C) It is descriptive

(D) It is inductive

(E) It is mechanical

Choose the most appropriate answer from the options given below :

(1) (A). (B). (C) only

(2) (B). (C), (D) only
3) (C). (D). (E) only

(4) (&), (D), (E) only




YT () ead ugha i fasmand Frafafed § @ #6927
(A) T8 TEATHF 2 |
B) = fommamE 2|
() =& foammers 2|
(D) I HARTHATHS ¢ |

(E) =g =ifa= 2

fir fou o sl & @ o=8 U &1 99 Fifw

(1) ZFae (A). (B). (C)
(2) a4 (B). (C). (D)
(3) Fa4 (C), (D). (E)

(4) Fad (A), (D). (E)

1[Option ID=10041]
2[Option ID=10042]
3[Option ID=10043]
4[Option ID=10044]
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Which of the following are remote data collection procedures?
(A)  Third party interview

(B)  Pop-ups

(C) Data base e-mail

(D) Instant messaging

(E) Panel discussions

Choose the correct answer from the options given below :
(1) (A). (B). (C) only
(2 (B). (C). (D) only
(3) (C). (D). (E) only
(4) (A). (B). (E) only

frefefaa o @ qrew stfewe dugw i gfsmd = @ 27
(A) g wid ereg (Feta v anaTeEi)

(B) UM-3H

(C) 3 =) 3Ha

D) e FAfSm (qrehifars HeyH)

(B) ot feerym (arfies uf=et)

T2 fou o fosreat & @ wdt 3w w1 ==m A

(1) &4 (A). (B). (C)

(2) ZFad (B), (). (D)




3 Fa= (). (D). (B)

(4) = (), (D). (E)

1[Option ID=10045]
2[Option ID=10046]
3[Option ID=10047]
4[Option ID=10048]
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To perform t-test which of the following softwares can be utilized?

(A) MS Excel

(B) Unix

(C) SPSS

(D) MS Equations

Choose the most appropriate answer from the options given below :

(1) (A)and (B) only
(2) (B), (C) and (D) only
(3) (A)and (C) only

(4) (A). (C) and (D) only

di-vlig = 2g Fafafed 3 @ #9 a1 difest gga o S ekt 27

(A) TH. TH. TR
B) I

(C) wWHRww
(D) TUH. TH. TR

= fow o foeredt # @ w1 3o w1 =99 Hifv -

(1) Fad (A) 3% (B)
(2) Fad (B), (C) 3 (D)
(3) FaA (A) #W (C)
(4) FaE (4), (O) #irK (D)

1[Option ID=10049]
2[Option ID=10050]
3[Option ID=10051]
4[Option ID=10052]
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Match List I with List IT

List T
Types of Research
(A) Cohort analysis

(B) Cultivation analysis

(C) Factor analysis

(D) Canonical analysis

List IT
Research Characteristic

(I) Studyv of a specific population as 1t
undergoes change over time.

(I) Simultaneous analysis of two or more
data tables.

(III) Analysis of perceptions of social world.

(IV) A multivariate statistical test used for
data reduction.

Choose the correct answer from the options given below :

1) (A)D). B)-ID), (O)-(ID). (D)-(IV)




(2)  (A)-(ID). (B)-IID). (C)-AV). (D)-(D)
(3) (A)-AV). (B)-). (O)-(ID. (D)-(I1T)
(4)  (A)-(D. (B)-(II), (C)-(IV). (D)-AD

gefl-1 o a1y g=i-11 &1 e i
i1 TAi-11

MY F TFR MICECIRERLTIY

(A) =T favem (I) 99 % A9 oot g8, U O S #
HETTH

(B) wedlanH (TEpfa) fergary (ID) = = A Aiher AROE S @y-ay
fergetwon

(C) == fagemo (III) | STd o Jeaequr 1 fagesm

(D) STl fagerson (IV) 3ATHSl & THFO g TgaR HITCTHA Theor

Hra fau o fomeat @ @ wEt 3w 1 9 Hife

1) (A)-(D). (B)-ID). (C)-(III). (D)-(IV)

(2) (A)-ID. (B)-(III). (C)-IV). (D)-(D
(3) A-IV). B)-D. (C)-11). (D)D)
(4)  (A)D). (B)-(IID). (C)-AV). (D)-D)

1[Option ID=10053]
2[Option ID=10054]
3[Option ID=10055]
4[Option ID=10056]

Sl. No.15
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The measures of inter-coder reliability are employed in research related to
(1) Discourse analysis
(2) Narrative analysis
(3) Path analysis

(4) Content analysis
se-wiet favawiaa & ameEel # v e | gefaa my | @ e
(1) famyl fagemm
(2) i fagerso
(3) w4 Tzt
(4)  fayg-awq faverm

1[Option ID=10057]
2[Option ID=10058]
3[Option ID=10059]
4[Option ID=10060]

Sl. No.16
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Transforming ideas. thoughts and messages into verbal and non-verbal signs and symbols is
known as

(1) Channelisation




(2) Controlled communication
(3) Encoding
(4) Decoding
s, famnd sfi dgen = difiaes va - gl § s fF am 3 s e 7
(1) grfie (SHeEsF)
(2)  faf e

(3) FeohEd

4) fage

1[Option ID=10061]
2[Option ID=10062]
3[Option ID=10063]
4[Option ID=10064]
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Which of the following are the effects of oral communication?
(A) Fragmented information

(B) Personal connect

(C) Feed back

(D)  Objectivity

(E) Absence of interpretation
Choose the correct answer from the options given below :
(1) (A) and (B) only
(2) (A). (B)and (C) only
(3) (B)and (C) only
(4) (C). (D) and (E) only
fferiiaa o 9 =i 4 difias gem & gaE 27
(&)  ESeHE g
(B)  TafFa=s day
(C)  ufdgfe (Fizss)
D) g

(E) =Irs s H9E

i faw T fesre | w39 1 = i
(1) e (A) 30 (B)

(2) FaEe (A), (B) 31 (C)

(3) e (B) 37 (C)
(4) Fae (C). (D) 3 (E)

1[Option ID=10065]
2[Option ID=10066]
3[Option ID=10067]
4[Option ID=10068]
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Given below are two statements :

Statement I: The psychological obstacle in communication can be seen when the receiver
fails to refer language to reality and experience.

Statement IT: The stereotypes held by one also contribute to the faillure of language to
reflect social reality.

In the light of the above statements. choose the correct answer from the options given below:

(1) Both Statement I and Statement II are true

(2) Both Statement I and Statement II are false
(3) Statement I is true but Statement II is false

(4) Statement I is false but Statement IT is true

w9 (I): TN | HHAEHIS o197 99 @ 1 Fehdl 8, 99 TeUehdl a91d Ud S1WE I WIS 1 Ted o
T fawa war 2 |

oA (I) : Forelt =afaa & ®g wou amfss aurdar #t wfafafea @ & vy & fawea @ o areE =
2l

39U e o 3k 4, 4= fTu T foemedt § 9@ w8 3w 9 i -
(1) Fo I3 M EHT 9 2 |

(2) e 130 I SAT S 2 |

(3) FA [8e 2, offd 9 [T 515 2 |

(4) FUH [FHAR, oAl F99 [[TA 2 |

1[Option ID=10069]
2[Option ID=10070]
3[Option ID=10071]
4[Option ID=10072]
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Identify the correct sequence of the elements of communication set by Aristotle:
(A) Speech

(B) Speaker

(C) Audience

(D) Occasion

(E) Effect

Choose the correct answer from the options given below :
(1) (A). D). (B). (C). (E)

(2) (D). (B). (A). (E), (C)
(3) (C). (D). (A). (E). (B)
(4) (B). (A). (D). (C). (E)

e 7 feifod | o ae % w2 F0  veeE i

A) 9
B)  FH
(C) i
D) W
(E) 99AE

= e o faeredi § 9wl 3 o = e

(1) (A). (D). (B). (C). (E)

2
(D). (B). (A). (E). (C)




(3) (C). (D). (A), (E). (B)

4) (B).A). D). (©).(E)

1[Option ID=10073]
2[Option ID=10074]
3[Option ID=10075]
4[Option ID=10076]

Sl. No.20

QBID:1501020

Match List I with List I :

(A
B)
(©
D)

List I

Types of Communication Effects

Instrumental
Prestige
Reinforcement

Aesthetic

@D
ey
(1D
aw

List IT
Source of Service
Author’s observation
A range of special requests
Sentimental fiction

Factual reports

Choose the correct answer from the options given below:

(1)

(2) (A)-(IID). (B)-(IV). (C)-(II). (D)-(D
(3) (A)-(IV), (B)-(III), (C)-(ID). (D)-(T)

(4)  (A)-(D), B)-IV). (C)-(1I). (D)-(III)

(A)-(II), (B)-(I1I). (C)-(IV). (D)D)

Al 13 g1 g=h 1T = firer i |

(&)

qH1 1
E o YTE o TN

@D

HA 11
a1 =1 Hid

S T ST

B) ulam
(C) A

(D) e

e 1o forreat 1 4 ol 39 o == fifa

(1) (A)-(D), (B)-(IID), (C)-IV). (D)-(D)
(2) (A)-ID. (B)-AV). (C)-aD. (D)-d)
(3) (A)-IV). (B)-(IID), (C)-D. (D)-(D)

4 (A)-(D). B)-(IV). (C)-(1I). (D)-(I1I)

1[Option ID=10077]
2[Option ID=10078]
3[Option ID=10079]
4[Option ID=10080]

an o sigivei & vk =
(1) wral e -HrfEe

(IV) deareds frard

Sl. No.21
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Find the wrong term in the series given below:

16. 22, 30. 45. 52. 66. .......

1) 22

2
()30




(3) 66

(4) 45

1 1 76 gaen T TTetd g w1 gal eEe ?
16, 22, 30, 45, 52, 66, .......

(1) 22

(2) 30

(3) 66

(4) 45

1[Option ID=10081]
2[Option ID=10082]
3[Option ID=10083]
4[Option ID=10084]
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If the word EARTH be written as QPMZS in coded form, how can the word HEART be
written in the same code?

(1) SPMZQ

(2) SQMPZ

(3) SPMQZ

(4) SQPMZ

af2 3% - EARTH 1 %2 94 QPMZS foren i 2 dl HEART =1 341 &2 4 fohm v foran s wahan
27

(1) SPMZQ

(2) SQMPZ

(3) SPMQZ

(4 SQPMZ

1[Option ID=10085]
2[Option ID=10086]
3[Option ID=10087]
4[Option ID=10088]

Sl. No.23
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(0.35)* —(0.03)

Compute the value of
0.19

upto 3 decimal places:

(1) 0.064
(2) 0.64
(3) 0.006

(4) 0.694

(0.35)* — (0.03)°

i WA 1 SIA 6 o= L e T e |

(1) 0.064

(2) 0.64




(3) 0.006
(a) 0.694

1[Option ID=10089]
2[Option ID=10090]
3[Option ID=10091]
4[Option ID=10092]

Sl. No.24
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10 chairs and 5 tables were purchased for Rs. 17.500. If the average cost of a chair is

Rs.1000, What 1s the average cost of a table?
(1) Rs. 1,400

(2) Rs. 1.200
(3) Rs. 1,100

(4) Rs. 1.500

10 HfEAT TR 5 7+ 1 F 17,500 7 @la 70| a2 vk FH i 3dEa Fwa 1000 & 2; 99 T 4 H
Simd oftad F=m 87

(1) % 1.400
(2) =% 1,200
(3) % 1,100
(4) %.1.500

1[Option ID=10093]
2[Option ID=10094]
3[Option ID=10095]
4[Option ID=10096]
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An Aeroplane started 30 minutes later than the scheduled time from a place 1500 km
away from its destination. To reach the destination at the scheduled time the pilot needed
to increase the speed by 250 km/hr. What was the speed of the Aeroplane during journey?
(in km/hr).
(1) 750
(2) 1000
(3) 800

(4) 900

U BT WS 3 1 Tasd @ 1500 .. Fi gt w et v @ e Ruifa w8 30 e 1 20 @
I wRY o | e e W Ruffa oog ¥ ugen 2q urmere @6t wfa § 250 et ufa w2 o @ afy
w1 mavEs gl | AT % S gaTs e i fa foRat oft (Feet. fmer H) 7

(1) 750
(2) 1000
(3) 800

(4)




900

1[Option ID=10097]
2[Option ID=10098]
3[Option ID=10099]
4[Option ID=10100]
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In classical square of opposition if ‘No S is P’ is given as false then which of the following

could be immediately inferred from it?

(A) ‘Some S is not P’ is true

(B) ‘All S 1s P’ 1s undetermined

(C) ‘Some S is not P’ is undetermined
(D) ‘Some Sis P’ is true

(E) ‘Some S 18 not P’ 1s false

Choose the correct answer from the options given below :

(1) (B). (D) and (E) only
(2) (A). (B) and (D) only
(3) (A). (D) and (E) only

(4) (B). (C) and (D) only
fogfa & aenfadm ol & afy #E S, PAd @, o8a & &9 # fem & a9 fafafaa 4 9 38 sH-w @9

R T STH I ST HehT 2 |

A FBS, P, TR

B) ‘wfi S, P?, wFuii@ 7|
(©) F3 S, Pa@ e, wfigif@ 2
D) ‘FBS PR,ud®

(E) ‘%8 S,Padl e, e 2

= fou o foshedt § & W I 1 =T HifS
(1) & (B), (D) R (E)
(2)  Fad (A), (B) 3 (D)
(3) F4d (A), (D) 31 (B)
(4) % (B). (C) 3R (D)

1[Option ID=10101]




2[Option ID=10102]
3[Option ID=10103]
4[Option ID=10104]
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Which Fallacy iz committed in the following argument?
“Smooth Sailing is all that's there to LIFE with ABC Insurance Policy.”

(1) The Appeal to Emotion
(2) The Appeal to Pity
(3) The Appeal to Force
4) Irrelevant Conclusion
Freferfiaa gfaa § wia—a dm s 27
o oft i sl iferd % we sfag—amm g g 2
(1)  9EATF o smre
(2) =A% foru ==
(3) e feru sme

(4) FrEfiTE e

1[Option ID=10105]
2[Option ID=10106]
3[Option ID=10107]
4[Option ID=10108]
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Given below are two statements :

Statement I: To draw an analogy between two or more entities is to indicate one or more
respects in which they are similar.

Statement II : Everry analogical inference proceeds from the similarity of two or more
things in one or more respects to the similarity of those things in some
further respect.

In the Light of the above statements, choose the most appropriate answer from the options
given below:

(1) Both Statement I and Statement IT are correct

(2) Both Statement I and Statement II are incorrect
(3) Statement I is correct but Statement IT 1s incorrect

(4) Statement I is incorrect but Statement II 1s correct

wud (I): @ a1 Afos Tearsti & Wed &9l ol ST U A1 iUk Yggedl § ITeh uHar i W
3 s 2 |

FIH (IT) : T G SHAH Uh a1 39E A4 Tgqgai § 4l a1 389 Afoeh J&qaii &l THEa § 34
gt o foret sifafera veey it TamaT i TR SR FaT 2|

SHIF HeH % A H, T o o faswedi #§ | waw 3ugw I A ==A Hifw

1)

Fo [N IIEHT TS E |




(2) FH TR I EHT T 2 |

(3) FeH [HH 2, oiford sheq 1A 2 |
(4) FE LA 2, Al e IHA 2

1[Option ID=10109]
2[Option ID=10110]
3[Option ID=10111]
4[Option ID=10112]
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Given below are two statements :

Statement I: For the Classical Indian thinkers, inference (anum&na) means only

syllogistic inference.
Statement IT : Unlike Aristotelian Syllogism. anumana invelves four steps instead of three.
In the light of the above statements. choose the correct answer from the options given below:

(1) Both Statement I and Statement II are true
(2) Both Statement I and Statement II are false

(3) Statement I is true but Statement II 1s false

(4) Statement I is false but Statement II is true

= 21 sy feg e 2

Fod (I) . dFerniaeht yrdi foas % e smmm =1 a1 Faa =meg aqEE 9 21
o (II) :  STEqETdl =arE & faudfa e o fF % a9 =1 = e 2  # |

3T e & TS 4, A fou mu famedi 4 @ g8t s o wEA fifu -
(1) FHAISRIIGHI A 2 |

(2) 2 130 I EH1 583 2 |

(3) A 18e 2, cifeh e 11 3797 2 |

(4) & T HHA 2, offhd 94 [TH& 2 |

1[Option ID=10113]
2[Option ID=10114]
3[Option ID=10115]
4[Option ID=10116]
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Which of the following means of knowledge involves positing of something for making any

unit of cognition self-complete?
(1) Comparison (Upamana)
(2) Postulation (Arthapatti)
(3) Non-Cognition (Anupalabdhi)

(4) Verbal Testimony (E.")abda)

T ¥ Frfoan med # @ fr # S B A N S A wia ARl = 3 55 W G i

gt g7

1)




(2)

(3)

(4)

1[Opt
2[Opt
3[Opt
4[O0pt

SYHHE

g
Fuefss
lag

ion ID=10117]
ion ID=10118]
ion ID=10119]
ion ID=10120]
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With respect to data communication, which of the following statements is true about fibre
optic cable?

1)

(2)

(3)

(4)

Fibre optic cable carries data in pulses of light and is prone to interference.
Fibre optic cable carries data as electronic signals and 1s not prone to interference.
Fibre optic cable carries data as electronic signals and 1s prone to interference.

Fibre optic cable carries data in pulses of light and 1s not prone to interference.

g2 (Afhet) HaR & G °, Bisa 3iiftdsh sheret & an § f=fefaa § @ s -a1 wuw a8 27

(1)

(2)

(3)

(4)

HIESH HiTEsh Sheled TehTel T4 § ATehs of W1l ¢ i Ig =4Temd 34@ 2 |

HISH SAMMEH held SAFgI e Hohashl o &9 § Alhg o 11 2 3R T2 AT 3G 2 |
ISR ST helcl SAFEIh Hohashi o &9 H kg o 1Al & 3R T8 =T8T Q@ 2 |
HIFa (e halel Yokl ¥9g H e o SI1a @ 31K Ig =Aand 39@ 74 ¢ |

1[Option ID=10121]
2[Option ID=10122]
3[Option ID=10123]
4[Option ID=10124]
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Arrange the following computer memory types|from fastest to slowest speed:

(&)
(B)
(©
D)
(E)

Hard Disk

Main Memory (RAM)
CD-ROM

CPU Registers

Cache Memory

Choose the correct answer from the options given below :

(1)

(2)

(3)

(4)

(D). (E). (A). (B). ()

(A). (©). B). D). (E)
(E). (D). (B). (4). (C)
(D). (E). (B). (A). (C)




wg Wi & fFafafaa yerl & disw @ wenfa = #n 4 fofew -

(A)
(B)
(©)
D)
(E)

e foen

g1 Tfd (3 T W)
ot <t - 3| o
ot bt 7 Foret

13 Tyfa (e o)

= fou mu faeet @ 9 T 3T =1 = Ao

1) (D). (E). (&), (B). (C)

(2) (A). (C). (B). D). (E)

(3) (E). D). (B). (A4). (C)

(4) (D). (E). (B). (A). (O)

1[Option ID=10125]
2[Option ID=10126]
3[Option ID=10127]
4[Option ID=10128]
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Which of the following statements about malware are true?

(A)

(B)

(©)

A Trojan Horse 1s malware disguised as legitimate software.

A Virus inserts itself into another program. It runs and spreads itself when the

program lis opened.

A worm 1s similar to a virus except that i1t does not need a program in order to run. It

spreads by itself.

Choose the correct answer from the options given below :

(1) (A) and (B) only

(2) (A)and (C) only

(3) (B) and (C) only

(4) (A). (B) and (C)




Aeaa & Ted 7 frafafaa s 7 8 9 o1 %97 96 27
(A) 219 gd T Aread g S 94 GidedT % SeHaY § 2l ¢ |

(B) as@ Tt g vom § W= g@ I 2| W 9um @ien 9 R a8 3@ Jed o em
T R |

(C) M U IE % THH BT 2 | 390 oia ik 9 g @ Fh sEel Sen & foe gmm Y stEvaeRan
Tl 2l | T2 T HeAar )

= feu mu eyl d @ 9F I =1 99q Fifyv -
(1) F== (A) 31 (B)

(2) === (A) #R (0)

(3) Fa9 (B) ¥ (C)

(4)  Fae (A), (B) 3 (C)

1[Option ID=10129]
2[Option ID=10130]
3[Option ID=10131]
4[Option ID=10132]
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Match List I with List IT

ListI List IT
(File) (File Format)
(&) Video (D xlsx
(B) Podcast I .jpe
(C) Photograph (ITI) .mp4
(D) Spreadsheet (IV) .mp3

Choose the correct answer from the options given below :
1) (A)-IID). (B)-(D). (C)-(IV). (D)-(D
(2)  (A)-ID). (B)-(IV). (C)-(1II). (D)-(I)
(3) A)-IID), B)-(IV). (C)-aD). D)-O

4 (A)-@). (B)-IV). (O)-(ID). (D)-(III)




-1 % =9 g=-11 1 f5em it

T=i-1 FHI-11
(&) iz () T
(B) U= (I) .S
(C) weZmTe (IIT) w4
(D) iz (IV) i3
9= fou o famed § | HEL 39 H1 = R

@ (A)-(I1I), B)-(1D), (C)-AV), (D)-0)
@ (A)-(ID), (B)-IV), (C)-(1I), (D)-()
@) (A)-(IID), (B)-(IV), (C)-(1D), (D)-(D)
@ (A)-(I), (B)-AV), (C)-I), (D)-(I1L)

1[Option ID=10133]
2[Option ID=10134]
3[Option ID=10135]
4[Option ID=10136]
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In the following spreadsheet, which of the formulae below would be best for cell C2? Note
that the formula must be able to be copied down from C2 to both C3 and C4.

A B C
Lunch Cost Dinner Cost Total Cost
' (Rs.) (Rs.) (Rs.)
2 15 27 42
3 23 35 58
1 10 35 45

(1) =A32+3B2
(2) =3A32+ B2
3) — BA32 + $B32

(4) =3A2+3B2




Frafafaa foen sfie (Wesfie) 4, frafafaa & F5-o g7 (wrjen) 3@ @t 2 % fau gatem @ ? |9 #®
for wider, @ 28 @t 3 3t i 4 S | Hidt B TH |

T off =t
TR WIS
Tf HsH A Fd AT

1 AT
&) &)

)
2 15 27 42
3 23 35 58
4 10 35 45

1) =T$2 + $efi2
2 = $U$2 + A2
@) = $T$2 + FAI$2
$u2 + $&ft2

1[Option ID=10137]
2[Option ID=10138]
3[Option ID=10139]
4[Option ID=10140]

(4)
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Given below are two statements : One is labelled as Assertion (A) and the other is labelled as
Reason (R) :

Assertion (A):  Soil Pollution due to detergents affects the root growth of the plants and
depresses the growth of soil micro-organisms.

Reason (R) : Presence of detergents in soil makes the soil more acidic.

In the light of the above statements, choose the most appropriate answer from the options

given below :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)
(2) Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)
(3) (A)is correct but (R) is not correct

(4) (A) 1s not correct but (R) is correct




= 2 FeA feu Mo 2 : uw sifieRem (AssertionA)%@ﬁ%’@ﬁ%?ﬁwmm (Reason R) % &9
g

Al (A) s (fsetiz) & R T ge1 Yguor & diui % g {9 W ouvE usa @ 3
Ta1 1 q& el & fawm w oft wna A 2|

FW (R) g1 § feersie 1 sufeuls gar 1 siftes sreefta o 2a1 2|

39 %99 % Aelis H, 4= 73U U fowmeui § & T9@ 30gad W &1 =994 FHife
@ (A) 3 R) A T T R R), (A) H 7 =T 2

2 (A) R (R) 3H1 & 2, A (R), (A) I w21 =ame 461 2 |
@ (A) T 2, AfF (R) & 7 2 |
@ (A) TE 7 2, afF (R) Tt 21

1[Option ID=10141]
2[Option ID=10142]
3[Option ID=10143]
4[Option ID=10144]
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Examples of Persistant Organic Pollutants (POPs) are:
(A) Dioxins

(B) PAN

(C) VOC

(D) FURANS

(E) PCB

Choose the correct answer from the options given below :
(1) (A). (D). (E) only
(2) (&A). (B), (D) only

(3) (B). (C). (E) only
(4) (C). (D), (E) only




Faq 39 9guhi (POPs) % 3= &
(A) smEfFEE

(B) W (PAN)

(C) &t s (VOO)

D)
(E) @

= fou o foeredt § @ |E 3 F w=E Ff
@ a4 (4), (D), (B)
@ Fad (A), (B). D)
@ %= (B), (C), (E)
@ *ad (C), (D), (B)

1[Option ID=10145]
2[Option ID=10146]
3[Option ID=10147]
4[Option ID=10148]
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In the first commitment period of Kyoto Protocol, how many green house gases were covered
for reducing their emissions?

(1) 4
(2) 5
(3) 6

@ 7

FIEl Tieihicd o 99N Uldegal HAaty | foad 019 239 A9 % IcHeH i FH HH & U AEd R

T U

1 4
2 5
3 6
@ T

1[Option ID=10149]
2[Option ID=10150]
3[Option ID=10151]
4[Option ID=10152]
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Given below are two statements : One is labelled as Assertion (A) and the other is labelled as
Reaszon (R) :

Assertion (A):  Green hydrogen production will be critical for world community to achieve
carbon neutrality by the year 2050.

Reason (R) : The energy content of hydrogen gas 1s much higher than that of coal.

In the light of the above statements, choose the correct answer from the options given below :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)
(2) Both (A) and (R) are true but (R) is NOT the correct explanation of (A)
(3) (A) is true but (R) is false

(4) (A)is falze but (R) is true

fi=r 2t e fau U F : us sifiwYR (Assertion A) % w9 # fafga @ @t gaw 39 #W0 (Reason R) &
W'E[

AfYeped (A) fava @gg@ & fau 2050 % FeA Foga wH FH 2g NG FEgeE H ScuTed
foTTersk &R I |

0 (R) : FISIoH A il FHelt A RIFA il STa aga ifis it 2|

3T HYF & ATk 8§, Fi fou e fowed § @ wd 3w F w5 Fif

@ (A) IR (R) g &3 & 3R (R), (A) it w8t =amen 2 |

@ (A) 3R (R) 3F @ &, AR (R), (A) Ft Tt =awen 7€ 2|
@ (A) 7F 2, Ak (R) 319 T8l 2 |

@ (A) 3T 2, AfdT (R) 97 21

1[Option ID=10153]
2[Option ID=10154]
3[Option ID=10155]
4[Option ID=10156]
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Since the start of industrial revolution. the acidity of ocean’s surface water has

(1) inecreased by ~10%
(2) remained constant

(3) decreased by ~25%

(4) increased by ~30%

aftenfires sifd 6t JETT T TYg F Hag! ST hH STEAd-
1 ~10% = T B

@ TYEd 3

(3) ~25% FHF @ TR

(4)




~30% g T B

1[Option ID=10157]
2[Option ID=10158]
3[Option ID=10159]
4[Option ID=10160]
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A Government University with Institute of Eminence status can have foreign faculty upto a

maximum of

(1) 20% of total faculty strength
(2) 25% of total faculty strength
(3) 30% of total faculty strength

(4) 35% of total faculty strength

ooy giaisd geu™ =i feufa g sraehia favafaene § siftrran fora faesf foemss @ < a=d 27

) Fa ekl i g@n w7 20%
@ Fa et i G #:125%
3) T frereht it @ F 30%
@) T fIerhi 1 F=& H 35%

1[Option ID=10161]
2[Option ID=10162]
3[Option ID=10163]
4[Option ID=10164]
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Credits earned by a student and stored in Academic Bank of Credit, after the date of earning

such credits, will have validity upto a maximum of

(1) 7T years
(2) 10 years
(3) 12 years

(4) 15 years
et B g ifia ot srmefies sfee 9= o 1 sfge, g =@ 6 fafyr & gy, siftean =9 7% &
fordr du g e

m 79 % fg

@ 1039 & fou

@) 1239 & fou

@ 153 & fore

1[Option ID=10165]
2[Option ID=10166]
3[Option ID=10167]
4[Option ID=10168]
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Identify the statutory bodies of a University:
(A) Board of studies

(B)  Academic Counecil
(C) Executive Council
(D)  Finance Committee

(E) University Court

Choose the correct answer from the options given below :
(1) (A). (B). (C). (D) only
(2) (A). (C) only

(3) (&). (C). (E) only
(4) (B). (O), (D). (E) only

Rrvafirmem % Tifafes fem # fafea fifw

(A) = gsd
(B) e gl
(C) el fiwg
(D) o= =

(B) fovafomem w2

frar fou e faeredt 8 @ wet 3T 1 == Fifs
@ FEd (A), (B), (0), (D)
@ Had (A), (C)
@ e (A), (C), (E)
@ %ad (B), (C), (D), (E)

1[Option ID=10169]
2[Option ID=10170]
3[Option ID=10171]
4[Option ID=10172]
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Environmental education must be integral to all academic programmes as students need to

be mainly sensitized about
(1) its interdisciplinary and multidisciplinary nature

(2) 1ts emergence as a specialized field

3) relationship between culture and environment




) environmental degradation and its consequences for life on earth

el e stavas w9 9 o e s &1 wfad s gen =i e sel o e % e |

qEId: ATee ST 1 T

(1) FEH Aafaw 3T aglawe wHfa

@ 3EF e &9 % w=v § anfauls

(3) HEH 3R GIR & T Gay

@) gl i ot gedt W Sftaq & feore gaen wfom

1[Option ID=10173]
2[Option ID=10174]
3[Option ID=10175]
4[Option ID=10176]
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‘How could a lamp, which does not keep on burning, light another lamp? This statement is
from the book titled ‘Siksha (learning). Who among the following is the author of this book?
(1) Rabindranath Tagore

(2) Sarvapalli Radhakrishnan

(3) Jyoti Phule

(4) Savitribai Phule
‘F1E duh I WE el I 1@ 8, TRl A= €U Fl HE Joil Gehal 8¢ g8 yd e (dieen) sfidew
g&as 8 2 | Frefafiaa 3 8 5 qeas & dws 3 27

(1) TefiegATy TR
(2) G TUFHFVHE
3) SIfea B

ORI R IR

1[Option ID=10177]
2[Option ID=10178]
3[Option ID=10179]
4[Option ID=10180]
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Read the following passage and answer the questions :

An essential function of hegemony involves convincing people to support the existence of a
soclal system that does not support them in return. Marginalised groups do not often protest
or revolt against ideologies that overwhelmingly support privileged groups because, on some
level, they consent to being dominated. This statement prompts an immediate question: Why
would anvone consent to such an arrangement? While dominant ideologies may reflect the
desires and interests of socially powerful groups. for these ideologies to remain dormant or
hegemonic, they must also feature an additional promise. It is in the best interest of the
marginalized groups to accept these beliefs as well. Put another way. members of socially
powerful groups act to have their world view accepted as the universal way of thinking, and
members outside these groups come to accept some of these ideclogies because they appear
beneficial in some way. This is referred to as a process of spontaneous consent because it is
typically informal or unnoticed. The best way to understand the spontaneous consent of
hegemony 1= through an example. A number of ideoclogical components within a nation’s
higher education system may not be in the best interests of students. One dominant belief
suggests that college students should pay for their own education. Despite being affected by
the belief, they accept it. and the ideclogy survives. When such consent fails, however. the
concept of hegemony also explains how dominant ideclogies evolve to contain this failure
through a process of flexible appropriation. In such a situation, it is likely that dominant
cultural institutions will absorb any challenging beliefs, integrate them into the hegemonic
matrix, and re-establish the previous norm. As a result. hegemonic systems never go away.
They simply change form through a process of constant give and take between social group.
Hegemonie ideologlieal structures maintain control in part through the never-ending process
of integration and appropriation of marginalised 1declogles.

g Ty it 9 SR 9 9= 46 | 50 9% F I AU

AT & UH AEYIF FE § UF DI TG % Afeded & gfd mmed g4 & fow o+ stvas
FET A B, S a9t § 39 T8 FE w2 | Hia wg W 39 feememst # iy @ 33 afd
fagre 72 #wd, < fosrifierr-umm Tt #1 srenfus Tmds et €, F=ifE 3 foRf T w enfuuer s 3
T HEHd BM 4 T B © | 39 FU H dehrel I @Sl 2rdl 2 | Hi3 oft sufad i 39 wehn i sweeen % ufa
HEHd BT 87 Seih SUtashRl SERYTIe g €9 & wfFdwnel agg it seoren v fat @i ufafEtia
w8, 39 foemumet & wgw a1 enfuegardt 59 @A & fore s uw sifafem aum 3 faivan oft
e 2 | Hia aggl w1 48 a7 umoned w e w0 8 oft R | o7 a0 & Fa S q g
w9 H YfFqeel! g 3 AfTas gEh H aEiis fbaT & e & ¥ 8 SiEr w1 % o &
£ 3R 3 9gl & TR % U §H [angmet wi SieR FH @ § #ih 3 3% hEl alsh d g
AT & | 38 T TEA GeArd i Ueh SfHAT o w9 § Heiia fea s @ wits ag fafte v @ o 2
A1 I W AN T A | IR & 9f Td: Thd Hewld H Uh 3G & HEH H 48 @l ¥ quen o
Tkt 2 | Rt 3w < 3== e et % offet s S uew faenfei & way fedt d 7 @ w21
T el gRON Gt @ 56 hicts & fornfeia 1 et =2 it fren 1 yam e =ifee ) 5| gwen
d yuifd 89 & e 9 3 EieR W dd @ R T8 femum s+ wdh 21 e, 59 53 yer i weafa
fawar & St 2t enfraes it sraumon Tow w2 o Ry gl femam weha s
ufshan & H1ead | 39 fawerdn ot Uk o fore forssfara et 8 1 30 @i 6t feafa 9 o dwie 2 fop adeasil
Aok HEATT Rt AUl aRom 1 SAeHETa BT 3w SfaTeETel A § i wf 3 qEadi
O I G TG R | giomEEEy sftmerErd sonfaat wt off oo T 2 | 3 At wEl & s
R -7 it ufshan & H1eTm A Fad 9 agad! @ | AT SeTieh St oFifve 9 | i
foaRemat & TR AR faFRem 6 Ft ot T T 39 At sfen & aem 8RR s wEd

Despite hegemony, why marginalised people do not protest?
(1) DBecause they are too weak.

(2) They are not bothered being dominated.
(3) Priviledged groups forcefully suppress them.

(4) Because of the promise that the dominant ideology is in their best interest.
i @t Tifide o sresg e = 7w E7
1) Fifeh I el FASH |

(2)




3% offaaed | T % 9§ faan 76 2

) fIIIfrRR-TH ¥qg Ieqds 3H1 gHF d & |
@) 39 o % w8 fob St fomm a3 Taw fza | 2

1[Option ID=10181]
2[Option ID=10182]
3[Option ID=10183]
4[Option ID=10184]

Sl. No.47
QBID:1501047

Read the following passage and answer the questions :

An essential function of hegemony involves convincing people to support the existence of a
soclal system that does not support them in return. Marginalised groups do not often protest
or revolt against ideologies that overwhelmingly support privileged groups because, on some
level, they consent to being dominated. This statement prompts an immediate question: Why
would anvone consent to such an arrangement? While dominant ideologies may reflect the
desires and interests of socially powerful groups, for these ideologies to remain dormant or
hegemonic, they must also feature an additional promise. It is in the best interest of the
marginalized groups to accept these beliefs as well. Put another way, members of socially
powerful groups act to have their world view accepted as the universal way of thinking. and
members outside these groups come to accept some of these ideclogies because they appear
beneficial in some way. This 1s referred to as a process of spontaneous consent because it is
typically informal or unnoticed. The best way to understand the spontaneous consent of
hegemony 1s through an example. A number of ideological components within a nation’s
higher education system may not be in the best interests of students. One dominant belief
suggests that college students should pay for their own education. Despite being affected by
the belief, they accept it, and the ideclogy survives. When such consent fails, however. the
concept of hegemony also explains how dominant ideologies evolve to contain this failure
through a process of flexible appropriation. In such a situation. it is likely that dominant
cultural institutions will absorb any challenging beliefs, integrate them into the hegemonic
matrix, and re-establish the previous norm. As a result, hegemonic systems never go away.
They simply change form through a process of constant give and take between social group.
Hegemonic ideological structures maintain control in part through the never-ending process
of integration and appropriation of marginalised ideclogies.

g Ty 1 9 3R 9 9@ 46 8 50 9% % I AT

AT o Tk HAGYIF HE H U WIS w1 o A o Jfd THeE 4 & foqg @ &l e
FET WA 2, N Fed ¥ 37H T0eF T A1 2 | HFivg vz e 39 Temamwen & iy @ =+ ufd
fagre 721 *d, S fasmifesrr-ure augt &1 srenfis gadq widl &, F#ife F forfi TR W enfuue s @
T HEHd B 2 T Bd © | 38 FYF W dehlel U9 @Sl Al @ | i ft =afad A 3| yehr fi e & uid
HEHd BT 87 Seih SUeashRl ey AT €9 & fadwnct @gg i georen IR fa @i ufifatia
w8, 37 foamamet & vgw 1 et 99w & o 39 v sfafem a=m o R v o
SETTF & | HHid gl 1 98 faq 5 amoned # wien w0 § ot 2| o alis & Fa W ar amitees
w9 ¥ vfaqenelt T8 % Afvas g i aeifrs e & o & =9 8§ ©er w6 F o +d w@
2 3R 3 T & T % GeHd § [CAngwisd H WiHR FA T & FIh I 3¢ Rl adh o g
T & | 39 T TEA Tgnid i Uk Ui % ¥ § Geiia fem Stan @ it ur fafie w9 9 st 2
7N I W AN T T | e & uft @ T5d Tenfd # s 3G & Hiea 8 48 @l ¥ 9uen
geFar 2 | TR} 2w =t 3= e woneft & et 19 =it wes i & watem feat ° 78 @ wwa 2
U FUEashil YR gEndt 8 o ot & fenfii @ st T i fren @ yam s aifee | s| gwon
d I 8F % STENE 9 30 WeR W ad @ IR F7 foemum s+ wd 2 | @, 99 38 yen i weufa
famer &t st 2 @t enfiae i sraumn TE w2 R R yer e faemume = faftEem i
gfskan & mream & 38 fawa # G & fore fofaa 2t 21 39 we 6 foufy § 9z dwe @ 6 aest
AT FEAT Rl AT GRS STeETd e 3 sntuerETd A # whiga o it gdad
A ! G ETfid i | aimeeEy sftererdt gonferat wdt oft e 7€ didi | 3w Tl & e
i S-37 it -l & mem ¥ Fad §9 dgadi @ | AfTeaTd denfes e i w9 8 i
foamRaT  ThiE AR fafEem & o T FE g At SiRa % e @ FEEe s wEd g

What is the acceptance of domination called?

(1)




Hegemony
(2)  Marginalisation
(3) Spontaneous consent

(4) Reflective desire

TeEd shi TTeRRIAT whl &1 shal Sl & 7

1) e

@ HHT TR

3) Ta: TFd GEEfd
@) yfdfsrfeer g=at

1[Option ID=10185]
2[Option ID=10186]
3[Option ID=10187]
4[Option ID=10188]
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Read the following passage and answer the questions :

An essential function of hegemony involves convincing people to support the existence of a
soclal system that does not support them in return. Marginalised groups do not often protest
or revolt against ideologies that overwhelmingly support privileged groups because, on some
level, they consent to being dominated. This statement prompts an immediate question: Why
would anvone consent to such an arrangement? While dominant ideologies may reflect the
desires and interests of socially powerful groups. for these ideologies to remain dormant or
hegemonic, they must also feature an additional promise. It is in the best interest of the
marginalized groups to accept these beliefs as well. Put another way. members of socially
powerful groups act to have their world view accepted as the universal way of thinking, and
members outside these groups come to accept some of these ideclogies because they appear
beneficial in some way. This is referred to as a process of spontaneous consent because it is
typically informal or unnoticed. The best way to understand the spontaneous consent of
hegemony 1= through an example. A number of ideoclogical components within a nation’s
higher education system may not be in the best interests of students. One dominant belief
suggests that college students should pay for their own education. Despite being affected by
the belief, they accept it. and the ideclogy survives. When such consent fails, however. the
concept of hegemony also explains how dominant ideclogies evolve to contain this failure
through a process of flexible appropriation. In such a situation, it is likely that dominant
cultural institutions will absorb any challenging beliefs, integrate them into the hegemonic
matrix, and re-establish the previous norm. As a result. hegemonic systems never go away.
They simply change form through a process of constant give and take between social group.
Hegemonie ideologlieal structures maintain control in part through the never-ending process
of integration and appropriation of marginalised 1declogles.
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AT & UH AEYIF FE § UF DI TG % Afeded & gfd mmed g4 & fow o+ stvas
FET A B, S a9t § 39 T8 FE w2 | Hia wg W 39 feememst # iy @ 33 afd
fagre 72 #wd, < fosrifierr-umm Tt #1 srenfus Tmds et €, F=ifE 3 foRf T w enfuuer s 3
T HEHd BM 4 T B ¢ | 39 FU H dohrl I @ 2l 2| Hi3 oft sufFd i 39 wehn i swawen % ufa
HEHd BT 87 Seih SUtashRl SERYTIe g €9 & wfFdwnel agg it seoren v fat @i ufafEtia
w8, 39 foemumet & wgw a1 enfuegardt 59 @A & fore s uw sifafem aum 3 faivan oft
e 2 | Hia aggl w1 48 a7 umoned w e w0 8 oft R | o7 a0 & Fa S q g
w9 H YfFqeel! g 3 AfTas gEh H aEiis fbaT & e & ¥ 8 SiEr w1 % o &
£ 3R 3 9gl & TR % U §H [angmet wi SieR FH @ § #ih 3 3% hEl alsh d g
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A1 I W AN T A | IR & 9f Td: Thd Hewld H Uh 3G & HEH H 48 @l ¥ quen o
Tkt 2 | Rt 3w < 3== e et % offet s S uew faenfei & way fedt d 7 @ w21
T el gRON Gt @ 56 hicts & fornfeia 1 et =2 it fren 1 yam e =ifee ) 5| gwen
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ufshan & H1ead | 39 fawerdn ot Uk o fore forssfara et 8 1 30 @i 6t feafa 9 o dwie 2 fop adeasil
Aok HEATT Rt AUl 9Rom 1 SAeHETa HOM 3w SfaqeETel AfaE § i wf SR qEadi
O I G TG R | giomEEEy sftmerErd sonfaat wt off oo T 2 | 3 At wEl & s
R -7 it ufshan & H1eTm A Fad 9 agad! @ | AT SeTieh St oFifve 9 | i
foaRemat & TR AR faFRem 6 Ft ot T T 39 At sfen & aem 8RR s wEd

The dominant ideology survives because of its

(1) Social Power
(2) Flexible appropriation

(3) Beneficial features

(4) Ideological components

e fremema R wRor A wh wd 20
) FHS wfEd

(2)
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1[Option ID=10189]
2[Option ID=10190]
3[Option ID=10191]
4[Option ID=10192]

Sl. No.49
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Read the following passage and answer the questions :

An essential function of hegemony involves convineing people to support the existence of a
social system that does not support them in return. Marginalised groups do not often protest
or revolt against 1ideologies that overwhelmingly support privileged groups because, on some
level, they consent to being dominated. This statement prompts an immediate question: Why
would anvone consent to such an arrangement? While dominant ideologies may reflect the
desires and interests of socially powerful groups. for these ideologies to remain dormant or
hegemonic. they must also feature an additional promise. It is in the best interest of the
marginalized groups to accept these beliefs as well. Put another way. members of socially
powerful groups act to have their world view accepted as the universal way of thinking, and
members outside these groups come to accept some of these ideclogies because they appear
beneficial in some way. This 1s referred to as a process of spontaneous consent because it is
typically informal or unnoticed. The best way to understand the spontaneous consent of
hegemony 1= through an example. A number of ideological components within a nation’s
higher education system may not be in the best interests of students. One dominant belief
suggests that college students should pay for their own education. Despite being affected by
the belief. they accept it. and the ideoclogy survives. When such consent fails, however. the
concept of hegemony also explains how dominant ideclogies evolve to contain this failure
through a process of flexible appropriation. In such a situation, it is likely that dominant
cultural institutions will absorb any challenging beliefs, integrate them into the hegemonic
matrix, and re-establish the previous norm. As a result, hegemonic systems never go away.
They simply change form through a process of constant give and take between social group.
Hegemonic ideological structures maintain control in part through the never-ending process
of integration and appropriation of marginalised ideologies.
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The dominant cultural institutions have the power to

(A)
B)
(©)
D)

Absorb challenges
Maintain relations with social groups
Destroy opposition

Re-establish the prelous norms

Choose the most appropriate answer from the options given below :

(1) (A) and (B) only

(2) (B). and (C) only

(3) (C)and (D) only

(4) (A) and (D) only

TRl Wiehiash GEAIST § F1 wifed et B 7

(A)
(B)
(©)
D)

AT ST ST HEAT

arTereh THEl o H1Y HeY ST T
ot =1 T8
qdad] gt S 9 TR HE

& fasrew g
(1) FHad (A) 3R (B)
) FHad (B) 3R (C)
@ e (C) 3R (D)
@) FHId (A) 3R (D)

1[Option ID=10193]
2[Option ID=10194]
3[Option ID=10195]
4[Option ID=10196]
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Read the following passage and answer the questions :

An essential function of hegemony involves convincing people to support the existence of a
soclal system that does not support them in return. Marginalised groups do not often protest
or revolt against ideologies that overwhelmingly support privileged groups because, on some
level, they consent to being dominated. This statement prompts an immediate question: Why
would anvone consent to such an arrangement? While dominant ideologies may reflect the
desires and interests of socially powerful groups. for these ideologies to remain dormant or
hegemonic, they must also feature an additional promise. It is in the best interest of the
marginalized groups to accept these beliefs as well. Put another way. members of socially
powerful groups act to have their world view accepted as the universal way of thinking, and
members outside these groups come to accept some of these ideclogies because they appear
beneficial in some way. This is referred to as a process of spontaneous consent because it is
typically informal or unnoticed. The best way to understand the spontaneous consent of
hegemony 1= through an example. A number of ideoclogical components within a nation’s
higher education system may not be in the best interests of students. One dominant belief
suggests that college students should pay for their own education. Despite being affected by
the belief, they accept it. and the ideclogy survives. When such consent fails, however. the
concept of hegemony also explains how dominant ideclogies evolve to contain this failure
through a process of flexible appropriation. In such a situation, it is likely that dominant
cultural institutions will absorb any challenging beliefs, integrate them into the hegemonic
matrix, and re-establish the previous norm. As a result. hegemonic systems never go away.
They simply change form through a process of constant give and take between social group.
Hegemonie ideologlieal structures maintain control in part through the never-ending process
of integration and appropriation of marginalised 1declogles.
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AT & UH AEYIF FE § UF DI TG % Afeded & gfd mmed g4 & fow o+ stvas
FET A B, S a9t § 39 T8 FE w2 | Hia wg W 39 feememst # iy @ 33 afd
fagre 72 #wd, < fosrifierr-umm Tt #1 srenfus Tmds et €, F=ifE 3 foRf T w enfuuer s 3
T HEHd BM 4 T B © | 39 FU H dehrel I @Sl 2rdl 2 | Hi3 oft sufad i 39 wehn i sweeen % ufa
HEHd BT 87 Seih SUtashRl SERYTIe g €9 & wfFdwnel agg it seoren v fat @i ufafEtia
w8, 39 foemumet & wgw a1 enfuegardt 59 @A & fore s uw sifafem aum 3 faivan oft
e 2 | Hia aggl w1 48 a7 umoned w e w0 8 oft R | o7 a0 & Fa S q g
w9 H YfFqeel! g 3 AfTas gEh H aEiis fbaT & e & ¥ 8 SiEr w1 % o &
£ 3R 3 9gl & TR % U §H [angmet wi SieR FH @ § #ih 3 3% hEl alsh d g
AT & | 38 T TEA GeArd i Ueh SfHAT o w9 § Heiia fea s @ wits ag fafte v @ o 2
A1 I W AN T A | IR & 9f Td: Thd Hewld H Uh 3G & HEH H 48 @l ¥ quen o
Tkt 2 | Rt 3w < 3== e et % offet s S uew faenfei & way fedt d 7 @ w21
T el gRON Gt @ 56 hicts & fornfeia 1 et =2 it fren 1 yam e =ifee ) 5| gwen
d yuifd 89 & e 9 3 EieR W dd @ R T8 femum s+ wdh 21 e, 59 53 yer i weafa
fawar & St 2t enfraes it sraumon Tow w2 o Ry gl femam weha s
ufshan & H1ead | 39 fawerdn ot Uk o fore forssfara et 8 1 30 @i 6t feafa 9 o dwie 2 fop adeasil
Aok HEATT Rt AUl aRom 1 SAeHETa BT 3w SfaTeETel A § i wf 3 qEadi
O I G TG R | giomEEEy sftmerErd sonfaat wt off oo T 2 | 3 At wEl & s
R -7 it ufshan & H1eTm A Fad 9 agad! @ | AT SeTieh St oFifve 9 | i
foaRemat & TR AR faFRem 6 Ft ot T T 39 At sfen & aem 8RR s wEd

The passage explains

(1) The forced absorption of the marginalized into the mainstream
(2) The establishment of the ideology of the marginalised

(3) The defects of spontaneous consent

(4 The survival of dominant ideology against the challenges

I TEITST ST T ST g 7

1) HiHiiehd %1 T&T 97§ Sl ATeIaTd S
(2) HidieRa =i fammarT 1 s
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1[Option ID=10197]
2[Option ID=10198]
3[Option ID=10199]
4[Option ID=10200]

Sl. No.51
QBID:151001

Who has defined the term “Optimum Population” for the first time?
(1) Simon Kuznets
(2) Julian Simon

(3) Ester Boserup

(4) Edwin Cannan
agelt =0 R ‘sem SadE’ 9g % sareta fee

(1) @ Fizm
(2) Fferm @A
(3)  ugx mw
(4) wsfam

1[Option ID=10201]
2[Option ID=10202]
3[Option ID=10203]
4[Option ID=10204]

Sl. No.52
QBID:151002

Who was a “Neutralist™?
(1) Allen C. Kelley

(2) Colin Clark

(3) Paul Ehrich

(4) Ansley Coale

Frafafaa & & 7 reegad” @
(1)  uew . FA

(2) =ifem F=mh

(3) i wEfe

(4) =l =

1[Option ID=10205]
2[Option ID=10206]
3[Option ID=10207]
4[Option ID=10208]

Sl. No.53
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Which one of the following is NOT a dimension of Human Development Concept?
(1) Equity
(2) Sustainability
(3) Diversity

(4) Empowerment

Feferfiaa & & == A @ sEann 1 OF WEm T9 27

(1) == (3FFET)
(2)




HmfiEaT
(3) fafaqaan
(4) TEEAED

1[Option ID=10209]
2[Option ID=10210]
3[Option ID=10211]
4[Option ID=10212]

Sl. No.54
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What is the percentage of aged people (60+) in India, according to Census 20117
(1) B6%
(2) 9.0%
(3) 11.6%

(4) B.0%

2011 =1 SR 5 AR, WG | 9 @0 (60 T8 § i) w1 giewd 0 87

(1) B86%
(2) 9.0%
(3) 11.6%
(4) B.0%

1[Option ID=10213]
2[Option ID=10214]
3[Option ID=10215]
4[Option ID=10216]

Sl. No.55
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In which yvear was. the Global Multidimenesional Poverty Index first developed?

(1) 1990
(2) 2001
(3) 2000
(4) 2010

v wgeTEt et qEw wEwym R a9 fawfa fe e
(1) 1990
(2) 2001
(3) 2000

(4) 2010

1[Option ID=10217]
2[Option ID=10218]
3[Option ID=10219]
4[Option ID=10220]

Sl. No.56
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The ratio of which one of the following is considered to calculate the age dependency ratio

according to the United Nations?
(1) The ratio of the elderly to the adult population
(2) The ratio of the young and the elderly to the adult population
(3) The ratio of the young to the elderly population

(4) The ratio of the young to the adult population

T TE % SN AT A ST H A w0 % e Frefefa § & e sime wRem e
i &7

(1)




Iz 3 dig SFEE F S
(2) 91 VA g SHEEAT S g e S
(3) 71 ¥ 97 FAHEN F I
(4) I SR G SHEEN H S

1[Option ID=10221]
2[Option ID=10222]
3[Option ID=10223]
4[Option ID=10224]

Sl. No.57
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The disease burden can be measured by which of the following?
(1) Mortality adjusted life tables
(2) Premature deaths
(3) Mortality Fertility ratio
(4) Disability adjusted life vears
T " 1 = Frefafaa 6 4 e grn = w27
(1)  Toge geEita sited arferwsi &
(2) wwE-gd &H = wa |
(3) WE-TEH T I A
) e FaEtE e a6l &

1[Option ID=10225]
2[Option ID=10226]
3[Option ID=10227]
4[Option ID=10228]

Sl. No.58
QBID:151008

According to Census 2011, the percent of disabled population in India is:

(1) 2.21%

(2) 5.17%
(3) 7.12%
(4) 1.10%

2011 i ST F AR, 9 7 e swae i ufawe 2
1) 2.21%
(2) 5.17%
(3) 7.12%
(4) 1.10%

1[Option ID=10229]
2[Option ID=10230]
3[Option ID=10231]
4[Option ID=10232]

Sl. No.59
QBID:151009

Which of the following is not part of “Gender Empowerment Measure™?
(1) Economic participation and decision-making

(2) Enjoying good health and equal level of survivorship

(3) Political participation, and decision-making

(4) Power over economic resources




Freaferfiae @ & #1 & *'Hfies gueho e’ fee T 27
(1) snfifer arfier =i fol s

(2) =7=a1 @ S Iearsiiaa &1 qaE =W
(3) werHife wrigrt si Fol o
(4) AT HETEE W AT

1[Option ID=10233]
2[Option ID=10234]
3[Option ID=10235]
4[Option ID=10236]

Sl. No.60
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According to the UNDP, what is the Human Development Index ranking of India in 20207

1) 9

(2) 160
(3) 131

(4) 61

7 v €t & FEN, 2020 F WEA ® AEE GEE e

(1) 91
(2) 160
(3) 131

(4) 61

1[Option ID=10237]
2[Option ID=10238]
3[Option ID=10239]
4[Option ID=10240]

Sl. No.61
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Which of the following is true from the graph showing the sex ratio (male/female per 100) at
ages (-4 in China, for the period, 1990-2010?
126
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1950 1955 1960 1965 1970 1975 1980 1985 1990 1995 2000 2005 2010

Year
(1) Sex ratio is within normal range
(2) Above the normal range
(3) Below the normal range

(4) None of the above
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(1) o i wm= =

(2) oW E s

3) am==TdE

(4) I9Ea § § wiE T8

1[Option ID=10241]
2[Option ID=10242]
3[Option ID=10243]
4[Option ID=10244]

Sl. No.62
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Which one of the following is not correct about Pearl Index?

It is calculated as number of unintended pregnancies in 1000 woman-years of
exposure.

1)

The study of different populations using the same contraceptive may yield different

(2) wvalues for the index due to the culture and demographics of the population being
studied.
3) It is the most common technique used in clinical trials for reporting the effectiveness

of a birth control method.

One of its major limitations is that it generally decreases with the duration of the
(4)  clinical trial the likelihood of pregnancy decreases over time.

Tl SS9 F AR H rCEd § F #9691 w9 9 A6 27

(1) 58 TUET 1000 SafEs SEar-ani § SHaE TH i He § w9 § 6 9w 2]

@ T THE TH-FYE H I F T S-S SEE & AT 36 SEEAT i Bk
T FITEHRRT = HTT YEHE o 10 - A FEH H T |
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1[Option ID=10245]
2[Option ID=10246]
3[Option ID=10247]
4[Option ID=10248]

Sl. No.63
QBID:151013

Which of the following is correct about prevalence of tobboco use during the second round of
the Global Adult Tobacco Survey (2016-17), compared to first round of survey (2009-10)?

1)

Increased substantially
(2) Almost no change
(3) Decreased substantially
(4) Nothig can be said

g W9 FH A g =AfEEl & aftas gaem 6 ga 48 (2016-17) % ENH FEaT § TE N
(2009-10) =Y Go1 & TFTE G % T H TEfeEa § F ®E 65 56 87

(1) =rfrafg g
(2)




TN IS A TE g
3) 'ﬂ‘ﬁ%‘ﬂ%‘{f
(4) FB TE Fa A gFal

1[Option ID=10249]
2[Option ID=10250]
3[Option ID=10251]
4[Option ID=10252]

Sl. No.64
QBID:151014

Which of the following disease is not covered under the National Vector Borne Disease
Control Programme?

(1) Malaria
(2) Seasonal Influenze (HIN1)
(3) Filaria
(4) Kala-azar
T F A U R e F ST et 3 8 w5 I e a6 et
(1) wefen
(2) =i sFEan (HIND)
(3) e
(4) TR

1[Option ID=10253]
2[Option ID=10254]
3[Option ID=10255]
4[Option ID=10256]

Sl. No.65
QBID:151015

What is the term used for third variable when it is associated with independent and
dependent variables?

(1) Dependent variable
(2) Independent variable
(3) Response variable

(4) Confounding variable
T = % o0 70 @ FE-H 9T TEE 2 6 a7 R e A ATga =0 A weied w7

(1) sqfera =
(2) =@ T

(3) N =

(4) faz=n

1[Option ID=10257]
2[Option ID=10258]
3[Option ID=10259]
4[Option ID=10260]

Sl. No.66
QBID:151016

Under what condition is logit regression model applied?
(1) Dependent variable is continuous
(2) Both dependent and independent variables are continuous

(3) Dependent variable is binary

(4) Independent variable is binary but dependent variable is continuous

Foraferfiaa & & fova g  wifee sfomee fes wgwa g 27

V) 35 sy = mea o




(2) w4 40 U9 T=ad = £F] gad 8 8
(3) o= anfya = fg=n g1 2
(4) T w=aa I TG g & g anfim = wom @ 2

1[Option ID=10261]
2[Option ID=10262]
3[Option ID=10263]
4[Option ID=10264]

Sl. No.67
QBID:151017

Who introduced the term ‘expected income at the destination’ in migration study?

(1) Saskia Sassen
(2) Peggy Levitt
(3) Michael Todaro

(4) Gu-n-r-lar Myrdal

WaTE WA § Tiaed Tl § SATHG S 97 i e qreetua Rt

(1) =fern awsa
(2) i wifere

(3) Hrzhel Al
(4) TR fiEa

1[Option ID=10265]
2[Option ID=10266]
3[Option ID=10267]
4[Option ID=10268]

Sl. No.68
QBID:151018

Who has propounded Cumulative Causation hypothesis?

(1) Gunnar Myrdal

(2) Gustav Ranis
(3) Oded Stark

(4) Saskia Sassen
Tt T TiEReT i foREe wfeaiEa T
(1) T faga
(2) TEE i
(3) =iEE =k

(4) wfera ard

1[Option ID=10269]
2[Option ID=10270]
3[Option ID=10271]
4[Option ID=10272]

Sl. No.69
QBID:151019

Who among the following has proposed the Sector Theory to understand urban morphology?
(1) Robert Ezra Park

(2) Louis Wirth
(3) Homer Hoyt

(4) Ernest Burgess

Tt s o = awee F fore & fagma # Pt @ @ fe sfofa e
(1) T T U

@) ot ek




(3) FEWaEE
(4) &= T

1[Option ID=10273]
2[Option ID=10274]
3[Option ID=10275]
4[Option ID=10276]

Sl. No.70
QBID:151020

Which of the following is used to estimate inter-district migration in a state of India by using
data from census of India 20117

(1) Migration matrix method

(2) Survival ratio method

(3) Balancing equation method
(4) All of the above

WA AT 2011 F O STRST 1 I9E0 B 5T 94 & R 159 § s -sATEE YEeH e
¥ el & & e fafa =i g e o 27

(1) g Afea fafa
(2) Frasitfean sam fafa
(3) HgeAmAT (eifEm) wHmm fafy

(4) ERiELR:E]

1[Option ID=10277]
2[Option ID=10278]
3[Option ID=10279]
4[Option ID=10280]

Sl. No.71
QBID:151021

Which of the following treatise used the term ‘census’ for the first time in India?
(1) Akbaranama

(2) Arthashastra
(3) Rajtarangini

(4) Ain-e-Akbari

WA # Teelt AW fforiad fa a § S eg s ge B 7

(1) wFaEmE
(2) =
(3)  TremL

(4) 3TE-TU-3FFadl

1[Option ID=10281]
2[Option ID=10282]
3[Option ID=10283]
4[Option ID=10284]

Sl. No.72
QBID:151022

The Sample Registration System (SRS) has been providing reliable estimates of which among
the following?

(1) Fertility only
(2) Mortality only
(3) Both Fertility and Mortality

(4) Migration only

witigs! defteer woelt (vE HE ww) g Felelen O @ R @ fvaedta aeeee gee e o 87




Q) gy

(2) Faa 9=

(3) S R sl g (3
(4) T TE=H

1[Option ID=10285]
2[Option ID=10286]
3[Option ID=10287]
4[Option ID=10288]

Sl. No.73
QBID:151023

Which of the following year is called the ‘demographic divide' in India?

(1) 1881
(2) 1901
(3) 1821

(4) 1951

Frraferfiae # wb-a1 ad wia @ ‘St v @Y % ®7 H A6 =@ g7

(1) 1881
(2) 1901
(3) 1921
(4) 1951

1[Option ID=10289]
2[Option ID=10290]
3[Option ID=10291]
4[Option ID=10292]

Sl. No.74
QBID:151024

Myer's blended index is used to correct which of the following?
(1) Digit preference in age data
(2) Sexratio
(3) Growth rate
(4) Migration rate
Freaferfion 1 & i B Y g T i e T A 27
(1) g s # wfEw e
(2) femr s
3) ===

(4) ¥AFA FH

1[Option ID=10293]
2[Option ID=10294]
3[Option ID=10295]
4[Option ID=10296]

Sl. No.75
QBID:151025

Which of the following estimates is not provided by the Sample Registration System at the
national and sub-national levels?

(1) Reliable annual estimates of birth rates

(2) Reliable annual estimates of death rates

(3) Other fertility and mortality indicators

(4) Reliable estimates of births averted
frefefiga & & +H-T1 WEEbeA TP S SU-UEE w0 9 Wiaed TSR Tl g A WEE T
e

(1) e 1 favasd aifbs mEEeE

(2)




el #1 faraeHE it wEEweH
(3) I WHH- ¥R FA-T Hohad

(4) T w=1i =1 faraada weepe

1[Option ID=10297]
2[Option ID=10298]
3[Option ID=10299]
4[Option ID=10300]

Sl. No.76
QBID:151026

How many person years of data an epidemiological study would contain that followed 100
people for 10 years?

1 10
(2) 100
(3) 1,000
(4) 10,000

TEERT I fawm Faefi st T 100 @ w10 =6 9 w1 g R 9 e e d T S
FfFa & HAHS| FI A FOW?

1) 10

(2) 100

(3) 1.000
(4) 10,000

1[Option ID=10301]
2[Option ID=10302]
3[Option ID=10303]
4[Option ID=10304]

Sl. No.77
QBID:151027

The formula Pi = Po(1 + r)t indicates which one of following models?
(1) Arithmetic Growth Model

(2) Exponential Growth Model

(3) Geometric Growth Madel
(4) Logistic Growth Model
73 Py = Py(1 + x)t Frferfian fea o wiemm (wiser) $i ST wsa w0 27
(1) i 9ty sfme
(2) amrhE 3 i
(3) i afy wimm
(4) wAtAtee® gy wlawH

1[Option ID=10305]
2[Option ID=10306]
3[Option ID=10307]
4[Option ID=10308]

Sl. No.78
QBID:151028

How many years it takes the population to double with a growth rate (r) of 2.0%?
(1) 35 years
(2) 70 years
(3) 105 years
(4) 140 years
FAEE F 2.0% Fhg & (x) F A g g9 # e 9 & awa wme

(1) 35




2
@ 70 =74

(3) 105 3y
(4) 140=d

1[Option ID=10309]
2[Option ID=10310]
3[Option ID=10311]
4[Option ID=10312]

Sl. No.79
QBID:151029

Which one of the following is measured by lexis diagram?
(1) Fertility

(2) Mortality

(3) Migration

(4) Nuptiality

Treaferfiae o e v =i SifFag s g A s 7

(1) "=
(2) TET
(3) WF=H
(4) Fartemm

1[Option ID=10313]
2[Option ID=10314]
3[Option ID=10315]
4[Option ID=10316]

Sl. No.80
QBID:151030

Which measure of dispersion is the least affected by extreme values?

(1)  Range Mean
(2) Mean Deviation
(3) Standard Deviation

(4) Quartile Deviation
IO 1 A SR STt T o el A i w87

(1) U (1) "=y

(2) = fa=em
(3) =% fa=EE
(4) TI4% fmem

1[Option ID=10317]
2[Option ID=10318]
3[Option ID=10319]
4[Option ID=10320]

Sl. No.81
QBID:151031

Which one of the following is Type-1 Error (o) in test of Hypothesis?

(1) Probability of accepting hypothesis (Ho) where it is true.

(2)  Probability of accepting hypothesis (Ho) where it is false.

(3)  Probability of rejecting hypothesis (Ho) where it is true.

(4) Probability of rejecting hypothesis (Ho) where it is false.
it 5 & T afeT = e § v - 137 (o) &

(1)  gfiwesH (Ho) # R 56 #it miiwa 92 98 T8 2




(2)  fmew (Ho) =1 TR 0 1 Wi s 9% 7o € |
(3) ufimew (Ho) % i 3 =1 Wiiehan a1 a7 T8 21
(4) TfeweTT (Ho) &1 S7ishd &4 1 Wika & 78 7o & |

1[Option ID=10321]
2[Option ID=10322]
3[Option ID=10323]
4[Option ID=10324]

Sl. No.82
QBID:151032

The population of country A is 50% more than population of country B and 20% more than
the population of country C. How much the population of country C is more than the
population of country B?

(1) 33.3%
(2) 25.0%
(3) 66.6%

(4) 40.0%

Toredt 2w A <t SEE g9 B ) weEE @ 50% sius o g C i SeEEE @ 20% v & W ew C
@i g 29 B 1 e | feet siften &

(1)  33.3%

(2) 25.0%

(3) 66.6%

(4) 40.0%

1[Option ID=10325]
2[Option ID=10326]
3[Option ID=10327]
4[Option ID=10328]

Sl. No.83
QBID:151033

Which one of the following correctly depicts the ‘nutritional density’ of the population?

(1)  The ratio between total population and land area

(2) The ratio between agricultural population and farming area
(3) The ratio between total population and arable land

(4) The ratio between farm population and land area
fAiieRa & | 1 SHETAT % T g o Heih e g

(1) Tl T A - H LI

(2) T =i = & = e

(3) Fa FAEE R FH A gfiw AT

(a) ToEm it -4 % o9 @ s

1[Option ID=10329]
2[Option ID=10330]
3[Option ID=10331]
4[Option ID=10332]

Sl. No.84
QBID:151034

Which one of the following states has the lowest proportion of elderly population in India
according to the Census of India 20117

(1)  NCT of Delhi

(2)  Jharkhand
(3) Uttar Pradesh

(4) Rajasthan




WA i FOET, 2011 F ATER GEA H FAGg ST R AR A9 ik § F e T 6 R
1) wgta ey &, foecht

(2) =zmErs
(3) Fewem
(4) TEEIH

1[Option ID=10333]
2[Option ID=10334]
3[Option ID=10335]
4[Option ID=10336]

Sl. No.85
QBID:151035

What is the basic purpose of P/F ratio method?
(1) Calculation of period fertility
(2) Calculation Parity Progression Ratio
(3) Adjusting the level of cohort fertility

(4) Adjusting the level of Period fertility

STl SeEE ST a9 1 He S g 7
(1) syEfF To9 2 % e
(2) T SR S H Gl
(3) TEV WS 51 T R HHe

(4) FETIE T T FH F T

1[Option ID=10337]
2[Option ID=10338]
3[Option ID=10339]
4[Option ID=10340]

Sl. No.86
QBID:151036

What is a Nuptiality Table?
(1) Single decrement life table

(2) Double decrement life table

(3) Multi-state life table

(4) Multi-regional life table
Sarfgemar aifern &= 27
(1) T BE HHA S arfer

-

(2) Tt grmm e e
(3) g Tt S aifee

(4) g-efa e ariemm

1[Option ID=10341]
2[Option ID=10342]
3[Option ID=10343]
4[Option ID=10344]

Sl. No.87
QBID:151037

How do you define General fertility rate?

(1)  Number of live births per thousand women in the reproductive age group
(2) Number of deliveries per thousand women

(3) Number of deliveries per thousand married women in the reproductive age group

(4) Number of live births per thousand married women




AW 9 =1 1 HE ufonfia fean s g
(1) oA g T i Afeena] 7§ wiq g9 SifEd a=ai & Gen

(2)  ufd g9 wigen=l | vaa =i g
(3) YRR 7 HYE FI fFantea wfeensdi @ 9fq T9w wHa 1 GEn

(4) vz faanfen wfeensdt & Sty 5= i g=n

1[Option ID=10345]
2[Option ID=10346]
3[Option ID=10347]
4[Option ID=10348]

Sl. No.88
QBID:151038

Who proposed the theory of intergenerational Wealth Flow?
(1) Kingsley Davis
(2) J.C. Caldwell
(3) Garry S. Becker
(4) Judith Blake
stdidiTa o= vag & fagm =i feea gfrofe fen?
(1) fome shm

(2) =i we=aw

(3)  ifi vg. W=
(4) ifzg ==

1[Option ID=10349]
2[Option ID=10350]
3[Option ID=10351]
4[Option ID=10352]

Sl. No.89
QBID:151039

SRS based Abridged Life Tables 2014-18 show that expectation of life at birth for India is
69.4 yvears. Choose the correct answer:

Birth rate and death rate cannot be computed from the given data as life table

1
S population is a stationary population
) Birth rate will be 14.41 per 1000 population for India during 2014-18 but death rate
cannot be computed as life table population is a stable population
3) Birth rate and death rate will be 14.41 per 1000 population for India during 2014-18
as life table population is a stationary population
@ Death rate will be 14.41 per 1000 population for India during 2014-18 but birth rate

cannot be computed as life table population is a stationary population

UH W UH SATHTE Aie Siaq aifer 2014-18 Zuie & 5 ana § 9= % gwa Sied e 69.4 a9 2 |
Foferfiaa o & =@t 3o =1 =34 =hifaw

fou M st § I 7 o ey g <k o T o Al 2 i S it i S
wifes 2

2014-18 = A WA =i 5 g1 14.41 ¥ 1000 & g, g 9o = 1 e 98 it
el iR S AferRT I SHEE T S 8

1)

(2)

@) 2014-18 # ZRA WFA F F9 7 3N g W 14.41 Wa 1000 F=EA0 200, Fiih A= anferw
FT SEE i e

2014-18 % ZF 9T A 9 7 14.41 7f0 1000 e g0ft, fimq s 52 i 7oem T fi .

* TR FEH a9 aTiern! i SaEa wiias SEE &

1[Option ID=10353]
2[Option ID=10354]




3[Option ID=10355]
4[Option ID=10356]

Sl. No.90
QBID:151040

Epidemiological transition refers to

(1) The change of mortality from infectious diseases to degenerative diseases
(2) The changing prevalence of vitamin D deficiency

(3) The change in birth defects due to genetic abnormalities

(4) A change in levels of diabetes in overweight adults

mamrl gEdl (vt ) g FAefafas § 9 o gataa 27
(1) o e & g g A @ R

(2) foerfim €t =it =it it sTwa § TiEd

(3) TRGT SATHHIFTSH! o HOT S S W afEd

(ay A T T T S T e

1[Option ID=10357]

2[Option ID=10358]

3[Option ID=10359]
4[Option ID=10360]

Sl. No.91
QBID:151041

The difference between a generation life table and a period life table is that

(1) The radix is different
(2) One refers to a true birth cohort and the other does not
(3) One uses a different method for caleculation qo than the other
(4) There is no difference
i 7 i At va s S Al & ger Frefia o d
(1) e o 2
(2) UEEN ARl I HEOl A Hala & e g A9
(3) T i TN qo FHufwer = for o= ugfa fReft % g e & o &
(4) =i o 7 it 2

1[Option ID=10361]
2[Option ID=10362]
3[Option ID=10363]
4[Option ID=10364]

Sl. No.92
QBID:151042

Which of the following is the purpose of standardization of death rate?
(1) To eliminate the differential influence of one or more variables
(2) To obtain an estimate of the ideal rates
(3) To determine the future rates that may be expected
(4) To obtain a correct statement of the actual or experienced rates

AL & WA ] 3509 Tt § § w6 @ e?

Q) o T e =10 F 9 T = I

(2) s =i & SEHE R ST

(3) srgmife wfesme =i = feio

(4) TTEAREE U FETIA T Tal wE w A FEAT

1[Option ID=10365]
2[Option ID=10366]




3[Option ID=10367]
4[Option ID=10368]

Sl. No.93
QBID:151043

The Technical Group on Population Projection of India, 2011-2036 provided projected

population at which of the following levels?
(A) Country

(B) States

(C) Union Territories

(D Districts

Choose the correct answer from the options given below :
(1) (A and (B) only

(2) (A), (B) and (C) only

(3) (A), (B) and (D) only
(4) (A). (B), (C) and (D) only

T 5 SR T T A 7 20112086 3 Frerfrfam e v w e e e e
(A) TIFEEW

(B) AT

(C) H9-T179 &9 T T

D) T

9 fou U e 9 O T I F 9= A
(1) FE (A) ¥R (B)

(2)  FaFa (A), (B) 3 (Q)
(3)  Faw (A), (B) 3t (D)
(4) == (A) (B). (O) =i (D)

1[Option ID=10369]
2[Option ID=10370]
3[Option ID=10371]
4[Option ID=10372]

Sl. No.94
QBID:151044

Which of the following is a health problem that can be caused by STIs in women?

(A) Pelvie inflammatory disease
(B) Ectopic pregnancy

(C) Higher risk for cervical cancer
(D) Infertility

Choose the correct answer from the options given below :
(1) (A), (B). (C), (D) only
(2) (A), (C) only

(3) (A), (B), (C) only

(4) (B), (C), (D) only




freafertias # & wfgenati # St wwen gwe wE F 93 F 70 8w 2y

(A)  ufcass swemel Im

(B)  srEnfiss mafaeen

(C) waisFa Ha 7q 3= SiEw
(D) SeAE

i feu o feeredi 6 @ wE I 1 =94 Fifae
(1) F= (A), (B), (C), (D)
(2) F4 (A), (C)
(3) Faa (A). (B). (O)
(4)  F== (B), (C), (D)

1[Option ID=10373]
2[Option ID=10374]
3[Option ID=10375]
4[Option ID=10376]

Sl. No.95
QBID:151045

Comprehensive emergency obstetric care does not include:

(A) Manual removal of placenta
(B) Hysterectomy

(W] Blood transfusion

(D) Caesarean section

Choose the correct answer from the options given below :
(1) (B), (C) and (D) only
(2) (A), (B) and (C) only
(3) (C)only
(4) (B)only

S SRS T @I % Sl F41 iee T8 g 87
(A) e w1 e e

(B)  muisrEresEs

(C) REGICIE]

(D)  wreataicrean (HiEfEa) S

H1 few o ferehedt § & @t 3o w0 == i

(1) ¥ (B), (O) 3 (D)
(2) Faa (A), (B) 3t (O)
(3) F4(C)
(4) Fae (B)

1[Option ID=10377]
2[Option ID=10378]
3[Option ID=10379]
4[Option ID=10380]

Sl. No.96
QBID:151046




Which of the following are ‘the age delayed degenerative diseases™?
(A) The shifting of man-made disease from one group to another.

(B)  The declining age-specific mortality results in a gradual shift of non-communicable

burden to older ages, with underlying causes of death showing little change overall.

(C)  The characteristics of “fourth stage” of epidemiological transition where the

distribution of non-communicable diseases is expected to shift to more advanced ages.

(D) The characteristics of “fourth stage” of epidemiological transition where the

distribution of non-communicable diseases is remaining same to the “third stage”.

Choose the correct answer from the options given below :
(1) (B), (C)y and (D) only
(2) (A). (B) and (C) only
(3) (C)only
(4) (B) and (C) only
Frafafia & sy feifaa g fiat 2
(A) T OHE ¥ gE § AH9-Ta S w1 ae

(B) Tg % = Fwi S amd: F4 afEdd G da f, ged § smed v o st ey ot |
A T 7 A A w9 % ufomm g

(C) s TehAw & e = i fafiean s i dwms i @ sfuw g s de
Teqran = A 2 |

(D)  wHIfes dsm & wgd-=aor $ Al s W awms sffe s e o F e @
AR

Hr fam o fomedi § & 98 3 @ = A

(1) Zaw (B), (C) 3 (D)
(2) e (A), (B) 31 (C)
(3) = (C)

(4)  F= (B) 3% (C)

1[Option ID=10381]
2[Option ID=10382]
3[Option ID=10383]
4[Option ID=10384]

Sl. No.97
QBID:151047

Which of the following statements are true about Singulate Mean Age at Marriage (SMAM)?

(A)  SMAM is the average length of single life expressed in yvears among those who marry

before age 50.
(B) SMAM is calculated from the proportion of currently married women
(C)  SMAM cannot be calculated using survey data

(D) SMAM can be estimated for women

Choose the correct answer from the options given below :
(1) (A)only

(2) (A) and (D) only
3)




(4)

(B) and (D) only

(C) only

foam % gwe fieie Men o (v v U wH) & 9 | efefa 6 3 e T e

(A)

(B)

©)

(D)

fr=
1)
(2)
(3)

(4)

TH U e f 50 99 # @ g =t fafga @ fi a6t § s f 7w sitEa
A 2|

TH TH T OH S0AH a9 i [FafEa AfEen % gaeae ¥ Wi w g |
Y UH U UH G #iHS H AT ek GRS el AT S TRl 8 |

UH UH U U Higens & o1 s e o g |

fau o Foehent & & G IO %1 w5 i
e (A)

et (A) 3R (D)

%39 (B) 3t (D)

e (C)

1[Option ID=10385]
2[Option ID=10386]
3[Option ID=10387]
4[Option ID=10388]

Sl. No.98

QBID:

151048

Which of the following statements about population pyramid are correct?

(A)

(B)

(€

(D)

Population pyramid is designed to give a detailed picture of the age-sex structure of a
population, with bars on the left and right of the central vertical axis representing

females and males respectively.
Pyramids may be constructed on the basis of either absolute numbers or percentages.

Percentage pyramid is calculated using percentages on the basis of grand total of the

population, including both sex and all ages (excluding age not stated).

Absolute pyramid indicates a change in the overall size of the population while

percentage pyramid depicts changes in proportional size of each age-sex group.

Choose the correct answer from the options given below :

1)

(2)

(3)

(4)

(B), (C) and (D) only

(C) and (D) only
(A), (B) and (C) only

(A), (C) and (D) only




freafefiaa # - %o o= den fufrs & . § vl 27

(A e T see 6 dg-fm e 6 e s wge w6 o Fef s g s
g SR 394 = A IR Z70 e W Al oK Te S w0 Eee: WEiEm e g

(B) Trufis =i fde g wfewm & sman w fiia fe o 9@ 21

(C)  fom s wft sy (TRl o 1 Sigst) ST Afed SHEE + Tt 40T & STUR T gfawe 5
W ek s g = aferes e s 2

(D) Trw frofis SAaEn & 99 AR ¥ TiEdE F R s & wats g s gwws e -
71 TR+ TS SR § i g

H= fou o faheal ® | @El IO w1 =Ed it

(1)  F=4 (B), (O) 3R (D)
(2) = (C) 3 (D)
(3) = (A), (B) 3R (O)

(4) Fa (A). (C) 3 (D)

1[Option ID=10389]
2[Option ID=10390]
3[Option ID=10391]
4[Option ID=10392]

Sl. No.99
QBID:151049

Which of the following principles were approved by the United Nations for the older

population?

(A) Independence
(B) Participation

() Collaboration
(D) Dignity

(E) Self-fulfilment

Choose the correct answer from the options given below :

(1) (A), (B) and (C) only

(2) (A). (B). (C) and (D) only

(3) (A), (B), (D) and (E) only
(4) (B). (D) and (E) only

oz T TAEEA &G TIF T g feeran A fgiat w1 squEitea e e

(A) wEaEm
(B)  =mwifE
(C) @AM
(D) i
() ==-gfd

Hr= fou o ferepedi W § w3 W =9 it




D aw @), @B s (©
(2) Fa4 (A). (B), (C) 3 (D)
(3) =4 (A), (B), (D) =R (E)
(4) ¥4 (B). (D) 3R (E)

1[Option ID=10393]
2[Option ID=10394]
3[Option ID=10395]
4[Option ID=10396]

Sl. No.100
QBID:151050

Which of the following are major goals of the ‘Beti Bachao Beti Padhao (BBBP)' Scheme

in India?

(A) To ensure education and participation of girl child
(B) To ensure survival and protection of the girl child

(C) To prevent gender-biased sex-selective elimination

(D) To enforee Pre-conception and Pre-natal Diagnostic Techniques (PCPNDT) Act.

Choose the correct answer from the options given below :
(1) (A), (B) and (D) only

(2) (A), (B) and (C) only
(3) (B}, (C) and (D) only

(4) (A)and (D) only
WA # T Fe 92w’ A % frefatan e ae w9 8 87
(A  =ferme 6 e s wEni w g e
(B)  fermai & Seawsitae S0 Suam w1 g F
(C)  fom smenfra féom =9 Soqem qatms # |

(D) igrorE iR fEm & = dai T (= d e S ) aifafem e

F1 fou T frmedl & A Gd IR W 999 P
) F=w (A), B) 3 (D)
(2) 99 (A), (B) i (C)
(3) % (B), () 3w (D)
(4) =& (A) =R (D)

1[Option ID=10397]
2[Option ID=10398]
3[Option ID=10399]
4[Option ID=10400]

Sl. No.101
QBID:151051




Which of the following data inputs are used in component method of population projection?
(A)  Age sex distribution of population in the base year.

(B) Life table survival ratios in the five-year age-groups for males and females for the

base year and projection periods.
(C)  TFR, ASFR for base vear and projection periods.
(D)  Sex ratio at birth for base year and projection periods.

(E)  Net migration by age group and sex for base yvear and projection periods.

Choose the correct answer from the options given below :
(1)  (A)and (B) only
(2) (A). (B) and (C) only
(3) (A), (B), (C) and (D) only
(4) (A), (B). (C), (D) and (E) only
Ffoifiaa # = @ STV S S NEan i e Aty § wge g 87
(A)  ngTEd § SaEEn & g o faam
(B) R =¥ ofR wamr st ag 1e i wfrene &g 5 T g @g § e wifed sea i
e ST
(C)  omam 3 SiR waw S|t 7 A UF 3N, U U Uh 3N

(D) swgmEd 3i wEaw siataa &g 9= W fan s

(E)  smamad s gamw sEfmEt 7g oy @ S fEm + oem fee g

fr fam o e § @ 98 I W 9 Fi
(1) =€ (A) s (B)
(2) Fad (A), (B) 3 (C)
(3)  F=a (A), (B). (C) 3 (D)

@ F=@m ), (B). (O), (D) 3 (B)

1[Option ID=10401]
2[Option ID=10402]
3[Option ID=10403]
4[Option ID=10404]

Sl. No.102
QBID:151052

Some of the salient features of a census are:

(A) Selectivity
(B) Simultaneity
(C) Universality
()] Periodicity

Choose the correct answer from the options given below :
(1) (A), (B) and (C) only
(2) (B).(C) and (D) only
(3) (A), (C) and (D) only
(4) (&), (B) and (D) only




FrET i e T §
(A) TR

(B)  EHITeHa

(Cy = wifiewa

(D) srmEfdan

H= fou m feepedt § | @El IR 1 =4 it

(1) F=aa (A), (B) #R (C)
(2) #FHaa (B), (C) #i (D)
(3) FF4 (A), (C) 3 (D)

(4) Fae (A), (B) 1 (D)

1[Option ID=10405]
2[Option ID=10406]
3[Option ID=10407]
4[Option ID=10408]

Sl. No.103
QBID:151053

Which of the following are errors of coverage in age data in census returns?

(A) Under-enumeration of children
(B) Net count at the older ages
(C) Under-enumeration at the early adult ages

(D) Ages unknown or not stated

Choose the correct answer from the options given below :
(1)  (A) and (C) only
(2) (A)and (B) only
(3) (A), (B) and (C) only
(4) (A), (B) and (D) only
o Eel § sgEedt siws i gt efatag 9 @ #9 d6Er
(&) DI T=A1H FF-TO
(B) gl # g1 den
()  wfies 7 3y & ST
(D) g Sa & Ao ward 9@ R
Hrr fam o el § & 98 I W =9 it

(1) = (A) 31 (0)
(2)  sae (A) R (B)
(3)  Faa (A), (B) 3 (O)

(4) Faa (A). (B) 31 (D)

1[Option ID=10409]
2[Option ID=10410]
3[Option ID=10411]
4[Option ID=10412]

Sl. No.104
QBID:151054

The United Nations Joint Score Index measures the data quality of age-sex structure of a

population as:

(A) Accurate
(B) Inaccurate
(C) Poorly Accurate

(D)  Highly Inaccurate

Choose the correct answer from the options given below :

(1)  (A) and (B) only




(2)  (B) and (C) only
(3) (A), (B) and (C) only

(4) (A), (B) and (D) only

T TE SaEE ThR 3599 A sHEEm & smg-fom e & sitwsl i e w1 f v § ama

=l %:
(A) g
(By  w@umd

(C) Tria ofgg

(D) F=ai smand

= fEu Mo famreai | & gl 39w = Fif
(1) A4 (A) 3 (B)

(2)  &a=e (B) 3l (C)

(3) Fa (A), (B) i (C)

(4) A4 (A), (B) 3T (D)

1[Option ID=10413]
2[Option ID=10414]
3[Option ID=10415]
4[Option ID=10416]

Sl. No.105
QBID:151055

The following major diseases covered by the ‘Special Survey of Causes of Deaths’ Report
2010-13 under the Sample Registration System using the Verbal Autopsy are given below.
Arrange these diseases in descending order (higher to lower) as per their percentage in total
deaths:

(A) Cardiovascular diseases
(B)  Respiratory diseases

(C) Perinatal conditions

(D Malignant and Neoplasm

(E) Diarrheal diseases

Choose the correct answer from the options given below :
(1) (A, (B). (D). (E), (C)

(2) (A), (B), (C), (D), (E)

(3) (A). (B), D). (C), (E)

@) (A), (B), (C), (E), (D)




wifess v wlien g gfdesl defis el % siaid geg wnw fafvee gdem fuid 2010413 siada
Freaferiiaa W o sfmmiai i e R T 2

(A)  wEE

(B) o=+ madi =it
(C)  fiee zamg

(D) AfEaE 3 A FahE

(B)  ffemie =

A fom o feekedl 6 9 wE I 1 = it
(1) (A, (B), (D), (E), (C)
(2) (A), (B), (C), (D), (E)
(3) (A), (B), (D), (O), (E)
(4) (4), (B), (C), (E), (D)

1[Option ID=10417]
2[Option ID=10418]
3[Option ID=10419]
4[Option ID=10420]

Sl. No.106
QBID:151056

The study of the age-sex structure and population composition of any country is important
for which of the following purposes?

(A) Planning
(B) Research
(C) Development

Choose the correct answer from the options given below :
(1) (A) only
(2) (A)and (B)only
(3) (O)only
4) (A). (B) and (C) only

fomelt <1 i A -fom HoaeT UE SHEE dued et § | o 35eydl o ety wReayl & 7

) T
(B) dim
(C) T

= fom e faedt 3§ FOE I I 1 S99 i
(1) F=E A

(2)  waa (A) 3 (B)

(3) = (0)

(4) FF9 (A), (B) 31 (C)

1[Option ID=10421]
2[Option ID=10422]
3[Option ID=10423]
4[Option ID=10424]

Sl. No.107
QBID:151057

Which of the following measures are used in the study of age-sex distribution of population?

(A) Sex-ratio

(B)  Old-age dependency ratio
(C)  Young dependency ratio
(D)  Age-specific fertility rate

Choose the correct answer from the options given below :




(1) (A), (C) and (D) only
(2) (A) and (B) only
(3) (B), (C) and (D) only

(4) (&), (B) and (C) only
S % Ag-Tem famm % sremd § Frafofa § @ =9 9 aege w@m o £

A)  fomgmma

(B) Tgaa sTifymaan saa

(C) T aifyaan s

(D) fafie amg smarfa vl =

Hra fou Ty foepet 8 @ wE I w1 == i
(1)  F=F4 (A), (C) 5 (D)

(2) 3w (A) 3 (B)

(3) =4 (B). (O) 3t (D)

(4) F= (A), (B) 3 (C)

1[Option ID=10425]
2[Option ID=10426]
3[Option ID=10427]
4[Option ID=10428]

Sl. No.108
QBID:151058

Which of the following sources provide demographic data in India?

(A) Census

(B)  Vital Registration System
(C) Demographic Survey

(D)  Population Register

Choose the correct answer from the options given below :
(1) (A), (B) and (C) only
(2) (A), (B). (C) and (D) only
(3) (A), (B) and (D) only
(4) (A), (C) and (D) only
P i 4 & F e rrwiTeRR s T w0 §7
(A) S
(B) =77 Tl STt

(C) wEiieahE wEe
(D)  wdE daee

A= fou i el # @ @ I % =99 it
(1) Faa (4), (B) HR(C)
(2) e (A). (B). (C) 31T (D)

(3) T4 (A), (B) ¥ (D)

(@) 9 (A), (C) =R (D)

1[Option ID=10429]
2[Option ID=10430]
3[Option ID=10431]
4[Option ID=10432]

Sl. No.109
QBID:151059

Which of the following are correct sources of fertility data?
(A)  Vital Registration System
(B) National Periodic Census

(C)  National Sample Survey
(D)  National Family Health Survey

Choose the correct answer from the options given below :




(1) (A), (B) and (C) only

(2) (B), (C) and (D) only

(3) (A), (B). (C) and (D) only

(4) (A), (C) and (D) only
T HiS! % HE |id eteiad § § B £ 7
(A)  wEw TSR o
(B) Ui smEfus sE

(©)  wdi fue e (dvee due 14)
(D) T iEn =R gaau

= fiu T e § 9 T 3w =29 i
(1) F=d (A), (B) 3 (C)
(2) === (B), (O) 3 (D)
(3)  FAa (A). (B), (C) 3i (D)

(4) Fa (A), (C) 3 (D)

1[Option ID=10433]
2[Option ID=10434]
3[Option ID=10435]
4[Option ID=10436]

Sl. No.110
QBID:151060

Prevalence as a measure of disease burden in a community, helps in which of the following
activities?

(A) to plan for health care services

(B) to make predictions about future burden of disease
(C) to look at cause or etiology

(D) to determine the number of clinics necessary

Choose the correct answer from the options given below :
(1) (A). (B) and (C) only
(2) (A), (B) and (D) only
(3) (B}, (C) and (D) only
(4) (A),(C)and (D) only
THEE § UM F G AW o F § A Sefeiiad § § A FEemen § g 6 8 7
(A)  TEEE TEE HEE E A aE & o
(B) W= T % =g & 91 9 & o
(C) =R 37eren FEm o W fEEn e F
(D)  siravgs w9 4§ faeies & e & i & foag

= e o famedt § | @8l I @ 94 i
(1) a»—em (A), (B)aﬂt.((:)
(2)  Fa (A). (B) 3 (D)
(3) F= (B), (C) 3R (D)

(4) FaE (A), (C) 3t (D)

1[Option ID=10437]
2[Option ID=10438]
3[Option ID=10439]
4[Option ID=10440]

Sl. No.111
QBID:151061

Which of the following method is used to evaluate the coverage of Census enumeration?

(A) Post-enumeration Survey

(B) Comparison with other vital statistics/demographic data

(C) Demographic analysis to check internal consistency/conformity of the data
(D) Reverse Record Checks

Choose the correct answer from the options given below :

(1)




(A), (B). (C) and (D) only
(2) (A), (B) and (C) only
(3) (A) and (D) only
(4) (B).(C) and (D) only
T o i S e # g Feteian 3 3 | agi s wd R e
(A)  SE-whoTeEn T
(B) & =A% Hifeadh /il dAhgi & a gem
(C)  wws i awiaieh Gid/ AT 1 A9 &g FEiEEhE faresm
(D) fre s ifem
i fiu T Feredt § W T I = i
(1) == (4), (B), (C) 3 (D)
(2) A4 (A), (B) 3 (C)
(3) Fae (A) (D)

(4) Fa (B), (C) ¥R (D)

1[Option ID=10441]
2[Option ID=10442]
3[Option ID=10443]
4[Option ID=10444]

Sl. No.112
QBID:151062

What characteristics are associated with the phenomena of ‘feminization of ageing’ in India?

(A) Discrimination and neglect experienced by women as they age
(B) Widowhood

(C) Complete dependence on others

(D) Poor health status

Choose the correct answer from the options given below :
(1) (A), (B) and (D) only
(2) (A). (B) and (C) only
(3) (B), (C) and (D) only
(4) (A). (B). (C) and (D) only
a4 “FgTEAeE A v F gftaer o g faeeam i 6 a7
(A) 9 F FIER Aieen gA H FIYM Go9E vE 0
B) dug=
(C) 7 | e
(D) e = featd
1 f5u, T faed § 9 9E I 1 =9 i
(1) =4 (A), (B) 5w (D)
(2) Faa (A), (B) 31 (C)

(3) 99 (B), (C) ¥ (D)
(4) Fa (A), (B), (C) =it (D)

1[Option ID=10445]
2[Option ID=10446]
3[Option ID=10447]
4[Option ID=10448]

Sl. No.113
QBID:151063




The computation of Life expectancy at birth from life table depends on:

(A) Age

(B) Infant mortality rate

(C) Gender

(D) Number of persons, that is, radix of the life table

Choose the correct answer from the options given below :
(1) (B). (C) and (D) only
(2) (A), (B) and (C) only

3) (C) and (D) only

(4) (B) and (C) only

Sie AT | 9 W SiE ST 5 5 e e B

(A) EIEH

B fmwm=R

() fom

(D) =l 1w | Sfia arer &1 at 9ol &
= fou T et B @ T I = i

(1) Fa= (B), (C) 371 (D)
(2) Fa (A), (B) 3 (C)
(3) Faa (C) 3 (D)
(4) F= (B) 3R (C)

1[Option ID=10449]
2[Option ID=10450]
3[Option ID=10451]
4[Option ID=10452]

Sl. No.114
QBID:151064

In Stage III of the “health transition” which of the following are main causes of illness

and death?

(A) Acute, infectious diseases such as typhus, measles and cholera
(B)  Respiratory diseases such as pneumonia and asthma

(C) Chronie, degenerative diseases, such as cancer

(D) Chronie, degenerative diseases, such as heart disease and strokes

Choose the correct answer from the options given below :
(1) (B), (C) and (D) only
(2) (A). (B)and (C) only
(3) (C) only

(4) (C)and (D) only




A TEHAN % = 111 °, T § A S SR 9o F AT A

(A)

(B)

(C)

(D)

7aTE TELh A S A A s

ST | ST ST ST S8 e

4= fou o ol § O O I 1 =99 i

1)

Fad (B), (C) 31 (D)

(2) Fae (A), (B) 3 (0)

(3)

Fae (C)

(4) Faa (C) 3 (D)

1[Option ID=10453]
2[Option ID=10454]
3[Option ID=10455]
4[Option ID=10456]

Sl. No.115
QBID:151065

Match List T with List I :

(A)

(B)
(©
)

List I

List IT

Dual system of sample registration (I) Myers

areas and surveys
Digit preference
Digit Dislike Index

Non-response correction

(II)  Whipple
(III) El Badry
(IV) Chandrasekhar and Dening

Choose the correct answer from the options given below:

(1)  (A)-(IV). (B)-(ID), (C)-(D), (D)-(I1D)

(2) (A1), (B)-(III), (C)-AV), (D)-(I)

(3) (A)IV). (B)-(ID), (C)-(I1D), (D-(D)
(4) (A, (B)-(IV), (C)-(ID), (D)-(D)

=t 1% arg =t 11 = faem i)

(&)
(B)
(©
(D)

T 1

o Gefieor & ua wei i et
wiferen sifbmm=ran

s sl aaww

- srgshan igH

fou o fomedi § ° HF I @ 9ae it

1) (A)-(1V). (B)-(ID), (C)-(D), (D)-(ITT)

(2)  (A)-(ID), (B)-(I11), (O)-(IV), (D)-(I)
(3) (A)-(IV), (B)-(II), (C)-(IID), (D)-(Dy

(4) (A)-IID, (B)-AV), (C)-ID), (D)-(D

1[Option ID=10457]

T+ 11
I ==
(In few=
(L) wet =g
(IV) =igra iR 2fm




2[Option ID=10458]
3[Option ID=10459]
4[Option ID=10460]

Sl. No.116
QBID:151066

Match List I with List I :

List I
(A) 1901-1921
(B)y 1921-1951
(C) 1951-1981
(D) 1981-2001

List I1
(I) Steady growth
(II) Rapid growth
(III) Stagnant growth

(IV) High growth with sure =signs of
slowing down of the growth rate

Choose the correct answer from the options given below:

(1) (A)-(I1D), (B)-(), (C)-(1I), (D)-(IV)
(2) (A)-(I), (B)-(IIT), (C)-(IV), (D)-(D)
(3) (A)-(D), (B)-(ID), (C)-(I1I), (D)-(IV)

(4) (A)-(IV), (B)-(IID), (C)-(1D), (D)-(T)

Tt 1% = 5= 11 %1 fem fifsm
Tt 1

(A) 1901-1921
(B) 1921-1951
(C) 1951-1981

(D) 1981-2001

feu o faepedl H @ wE IR w1 =E it

(1) (A)-(IID), (B)-(D). (C)-(I1), (D)-(IV)

(2)  (A)-(ID), (B)-(ID. (C)-(IV), (D)-(D)
(3) (A)-(D). (B)-(ID), (C)-(I1I), (D)-(IV)
(4)  (A)IV), (B)-(IID), (C)-(ID), (D)-(D)

1[Option ID=10461]
2[Option ID=10462]
3[Option ID=10463]
4[Option ID=10464]

T 11

O i 3fg

an =3

I fer a1fz

(IV) afg = % divft 59 % Ffraa g%a & =@
I=a g

Sl. No.117
QBID:151067

Match List I with List II :

List I
(A) Mayer's Index
(B) Population pyramid
(C) Chiang's Method
(D) Exponential growth model

List I1
(I) Age structure
(II) Population projection
(III) Digit preference
(IV) Construction of Life Tahle

Choose the correct answer from the options given below:

(1) (A)-ID, (B)-(ID, (C)-AV), (D)-(D
(2)  (A)-(IID, (B)-D), (C)-(IV), (D)-(IT)
(3) (A)-(IV), (B)-(ID, (C)-(I1L), (D)-(y

(4) (A)-(T), (B)-(IL), (C)-(II), (D)-(IV)




T 1% @y gt 11 = frerm Fifa |

T 1 T I
(&) AR GIFF 0 ¥y F=
(B) wwEE ffs (I e gga
(C) o= agf (TTT) 7ifereh safemr=rar
(D) =wE Fig T (IV) it aferht =1 fmio
fu Mo el ® @ 59 3 % =999 S -
(1) (A)-ID, (B)-(IIL), (C)-(IV), (D)-(T)

(2) (AIID, (B)-@), (C)-(V), (D)-(D
(3) (A)-(IV). (B)-(ID), (C)-(I1I), (D)-(D)
(4)  (A)-(D), (B)-(ID), (C)-(I1D), (D)-(AIV)

1[Option ID=10465]
2[Option ID=10466]
3[Option ID=10467]
4[Option ID=10468]

Sl. No.118
QBID:151068
Match List I with List IT :
List I List IT
Definition (Notation/Type)
(A) Null Hypothesis (Iy  range of test
(B) Alternative Hypothesis (I) Type-I Error
(C)y Rejecting Ho when Ho is true (III) Type-1I Error
(D) Rejecting Ho when Hy is false (IV) Ha

V) Ha
Choose the correct answer from the options given below:
(1)  (A)-(ID), (B)-(I1T), (C)-(IV), (D)-(V)
(2) (A)-(I), (B)-(IL), (O)-(I11), (D)-(IV)
(3) (A)-(IID, (B)-(IV), (C)-(V), (D)-(T)

(4)  (W)-IV), (B)-(V). (C)-(1D). (D)-(11D)

T I3 a0 At 11 = e Shif |

T 1 Ecifl|

it ekl [T
(A) = giEeT I e =1 wE
(B) Ffeas afwe an =g - 13f
(C) How sedm s@ Ho 78 2 (1) =9 - 11 3f2
(D) Hy® wredrm s= H, Tem & {aIv) Ho

V) H

fem o fomedl 6 § w81 3T w0 =9 SHifAw

(1) (A)-(ID, (B)-(1D), (C)-AV). (D)-(V)
(2)  (A)-(D), (B)-I), (C)-(I1L), (D)-(IV)
(3) (A)-(IID, (B)-IV), (C)-(V), (D)-(D)
(4)  (A)-IV), (B)-(V), (C)-(IT), (D)-(I1T)

1[Option ID=10469]
2[Option ID=10470]
3[Option ID=10471]
4[Option ID=10472]




Sl. No.119
QBID:151069

Match List I with List IT :

List I
(The population projection method)

List IT

(Formula)

(A) Arithmetic growth method M P=Pf+rt)

(B) Geometric growth method (M) P =Pge"

(C) Exponential growth method am p - K s
1+e”

(D) Logistic growth method av) P= ‘Pu(l +r)

Choose the correct answer from the options given below:
(1) (A0, (B)-(ID). (C)-(I1D), (D)-(IV)
(2) (A0, (B)-IV), (C)-(ID, (D)-(LID)
(3)  (A)-ID), (B)-(I1D), (CO)-(IV), (D)-(])
(4)  (A)-(IV), (B)-(I1D), (C)-(ID), (D)-(D)

=t 13 w9 =t 11 =1 forerm Sifam
T 1 = 1
(st s fafir) (w)
(&) T 9i fEfa @ P-=P
(B) wnfird 3z fafy i)
(C) =i =iy fafa

(D) wwweda gz fafa
et fed T faerent § & WE I 1 = i
1) (A)-(D), (B)-(ID), (C)-11), (D)-(IV)
(2)  (A)-(D), (B)-(IV), (C)-(ID), (D)-(I1T)
(3)  (A)-(ID), (B)-(III), (C)-(IV), (D)-(1)

(4) W-IV). (B)-(ID), (C)-(1), (D)-()

1[Option ID=10473]
2[Option ID=10474]
3[Option ID=10475]
4[Option ID=10476]

P, =Pe"

I P =—-
l+e

V) B =PF+r)f

Sl. No.120
QBID:151070
Match List I with List I :
List I List IT
(Method) (Name of method or test)
(A) Component method (I)  Interpolation
(B) ANOVA (II) Extrapolation
(C) Polinomial method (III) Population projection
(D) Nearest Neighbour method (IV) Hypothesis test

Choose the correct answer from the options given helow:
(1) (M-I, (B)-aD), (C)-(1ID), (D)-(IV)
(2) (A)-(II), (B)-(III), (C)-(IV), (D)-(Dy
(3) (A)(IID), (B)-AV), (C)-(ID), (D)-(D)
(4) (A)-0V), (B)-(IID), (C)-(D), (D)-(D)




gt 13 = 3t 11 =1 frere Sifam |

T 1
REATS
(A) T IZR

(B) T
(C) =gwEl ugfa

(D) Frwees g w5

few T, forehedl W & WE I = R

(1) (A)-D, (B)-D, (O)-(1), (D)-IV)
(2) Q)-ID), (B)-II), (C)-(IV), D)-(D
(3) (AL, (B)-AV), (C)-(ID), (D)-(D)

(4)  (4)-(IV), (B)-(TID), (C)-(ID), (D)-(T)

1[Option ID=10477]
2[Option ID=10478]
3[Option ID=10479]
4[Option ID=10480]

T

azfd F1 AW weE whem

O ==
(1) =fEdm
(I11) SeE gamu

(IV) afteregan gitem

Sl. No.121
QBID:151071

Match List I with List IT :

List I
(A) Regional model life tables
(B) Singulate mean age marriage
(C) Theory of stable population
(D) P/F Ratio method

List I1
(I) Hajnal
(II' Brass
(IIT) Lotka
(IV) Coale and Demeny
(V) Sheps

Choose the correct answer from the options given below:

(1) (A)-(IV), (B)-(D), (C)-(I1L), (D)-(ID)
(2) (A)-(D), (B)-(ID), (C)-ID), (D)-(IV)

(3) (A1), (B)-(IIT), (C)-(V). (D)-(IV)
(4) (W)-(V), (B)-(IV). (C)-(II), (D)-AD)

Tt 13 e gt 11 = faem Fifem |
= 1

(A) enfr Frgt < wfemm

(B) vFw A= wg-FEE

(C) wur S w= fage

(D) ft/uw siguma fafa

fem v el § | @El ST 1 999 HifAw

(1) (A)-(IV). (B)-(D), (C)(IID), (D)-(ID)

(2) (A)-D), (B)-(IID), (C)-(ID), (D)-(IV)
(3) (A)-ID), (B)-(IID), (C)-(V), (D)-(IV)
(@) (A)-(V), (B)-(IV). (C)-(IID), (D)-(AD)

1[Option ID=10481]
2[Option ID=10482]
3[Option ID=10483]
4[Option ID=10484]

=l
O =z
m ==
(ITN) e
(IV) =i it gt
V) ¥




Sl. No.122
QBID:151072

Match List I with List IT :

List I

(A) Provide estimates of maternal

and

child health indicators at district level

(By Matching of deaths by half-yearly

survey
(C) Post enumeration survey
(D) Verbal autopsy

List II
(Iy  Million Death Study

(Il Census

(1ID)
(Iv)

National Family Health Survey-4
Sample Registration System

Choose the correct answer from the options given below:

(1) (A, (B)-(IV), (C)-(T), (M-(D)
(2)  (A)-(IV). (B)-(D), (C)-(I1T), (D)-(ID)
(3) (A)-(ID), (B)-(I1D), (C)-(IV), (D)-(T)
(4) (A)-(ID), (B)-(D), (C)-(ID), (D)-(IV)
Tt 1% @y gt 11 3 faem Fife |
il

(A) Torem = S ST Ao e gedEt

= e UEH AT 2 |

(B) wg-ambe HHew gRI Al 1 GoHTHE

AT
(C) = ofemmT gd&m
(D) i = afteor

fem, mu fempedl § | wEl SR w0 =9 HifAw

1) (A)-(I1D), (B)-(IV). (O)-(1D), (D)-(T)
(2) A)-IV), (B)-(D, (C)-(IID), (D)-(D
(3) (A)-(I). (B)-(ID), (C)-(IV), (D)-(T)
(4)  (A)-ID, B)-0), (C)-(1D), (D)-(IV)

1[Option ID=10485]
2[Option ID=10486]
3[Option ID=10487]
4[Option ID=10488]

T I
(1) fafeem 90 sm

(1) =T

(111} T ufEn e gaam - 4
(IV) wftest 9sfem womedi

Sl. No.123
QBID:151073

Match List I with List IT :

List I
(A) PBrass growth balance method

(B) Estimation of adult mortality from (II)

sibling histories

(C) Model life tables

(D) Generalized growth balance method

List IT
(I) Multiple census method

Incomplete data

(I1T)
av)

Survey data

One census method

Choose the correct answer from the options given below:

(1) (A)MD. (B)-AV), (C)-(1), (D)-(I1D)
(2) (A)-(IV). (B)-(D), (C)(III), (D)-(1L)
(3)  (AMIV), (B)-(III), (C)-(ID), (D)-(I)

(4)  (A)-(IID), (B)-D), (C)-(ID), (D)-(IV)




(1)
(2)
(3)

(4)

(A)
(B)
(©)
)]

T 1% = =t 11 =1 fem Fifsm)

T 1

o g T &t

HEG % -3 § T GogR B A
AT S AT
TR famm wgem

fom U ferpet 6 | @E I 1 99 A

(A)-(I), (B)-(IV), (C)-(ID), (D)-(IIT)

(A)-(IV), (B)-(D), (C)-(11D), (D-(1D)

(A)-(IV), (B)-(III), (C)-(1T), (D)-(I)

(A)-(I1D), (B)-(I), (C)-(IT}, (D)-(IV)

1[Option ID=10489]
2[Option ID=10490]
3[Option ID=10491]
4[Option ID=10492]

= I
M  =g-sFoE
an st s
(IIT) wdem =Aws
av) w s fafa

(2)

A4
(B
(©

(D)

Sl. No.124
QBID:151074

Match List I with List IT :

List I

Number of years that a new born can
expect to live between ages x and v
Probability of dying between ages
xand y

Probability that a new born will die
between ages x and x+n

Probability that a new born will
experience his death between ages
xand y

(1)  (A)-(I1D), (B)-(1), (C)-(IV), (D)-(IT)
(2) (A)-IV), (B)-(ID), (C)-(IID), (D)-(T)
(3) (A)-(D), (B)-(I1D), (C)-(IV). (D)-(1D)
(4)  (A)(IID, (B)-I), (C)-(ID), (D)-(IV)
o=t 15 @y =t 11 = faem i)
= 1
(A) x ¥Ry g * o= Faam firg F it
T # et ag
(B) x 3Ry 31g % W& W areil i wifehar
(C) x 3Ry 7 & 94 &g | g 1 AwH
EGECE LR REC
(D) x ity Y F "o AR Faan g f
Tl
o Mo Tl @ TR I 9 999 S
(1) (A)-(IID, (B)-(1), (C)-(IV), (D)-(IT)

(A)-(IV), (B)-(ID), (C)-(I1I), (D)-(T)

(3) (A)-(D). (B)-(IID), (C)-(IV), (D)-(Iy
(4) (A)-(IID, (B)-(D), (C)-(ID), (D)-(IV)

1[Option ID=10493]
2[Option ID=10494]
3[Option ID=10495]
4[Option ID=10496]

List 1T
o 1-(/L)
an (. -1)1,
am (7, -7, )i,

av) ndxl,

Choose the correct answer from the options given below:

= 1l
o 1-(/n)

a (-1,
am (7, -7,)/,

(IV)y ndx/l,

Sl. No.125




QBID:151075
Match List I with List I :

List I List IT

(A) Index of the proportion of married (I) XTgm/EFm
women

(B) Index of the fertility of non-married (II) XfW, /EFW,
women

(C) Index of marital fertility I % fim [T FEW,

(D) Index of overall fertility awvy IhU,/TFRU,

Choose the correct answer from the options given below:

1) (A)-(IID), B)-IV), (O)-(0), (D)-(ID
(2) (A)-(IV), (B)-(IIT), (C)-(ID), (D)-(D)
(3) (W)-(D), (B)-(I). (C)-(IV), (D)-(I1I)

(4)  (A)-(D, (B)-D), (C)-(I1L), (D)-(IV)

gt 1% = gt 11 1 fiem ifa |
Tt 1 il
(&) Toanfen wfeensii & o =+ g O Tgm/ZFEm
(B) wifFenfem wfgensti #it g amm @1 (D) ZfW, [SFW,
qTF
(C) awifes s e gEw () Xfm,/SFEW,
(D) 9 WS & T av) ThU,/ZFRU,
fow v el § & wE I = =A i

(1) (A)-IID, B)-AV), (C)-D), (D)-(ID)
(2) A-IV). (B)-(IID, (C)-(ID, (D)-(D)
(3)  (A-ID, (B)-D), (C)-(IV), (D)-(IID
(4)  (A)-(I), (B)-(ID), (C)-(I1D), (D)-(IV)

1[Option ID=10497]
2[Option ID=10498]
3[Option ID=10499]
4[Option ID=10500]

Sl. No.126
QBID:151076

Arrange the following cities in descending order (high to low) by proportion of slum
population, according to census of India 2011:

(A) Mumbai
(B) Pune
(C) Kolkata
(D) Jaipur

Choose the correct answer from the options given below :
(1)  (C). (A). (D). (B),

(2) (), (A). (B), ()
(3) M), (). (D), (B
(4) (4),(0), (B), (D)




2011 =i SE F AN Ao T SEE A % A w9 (399 " ) °§ ety o
= i:a £ r:ﬂU‘ :

+ ¢

(4 s

B ™

(C) et
D) T

fom T fasregi | o BE S w1 =99 i

(1) (C), (A), (D), (B),
(2) (©), A, (B), D)

(3) (A).(0). (D), (B)

(@) (A). (O), (B). (D)

1[Option ID=10501]
2[Option ID=10502]
3[Option ID=10503]
4[Option ID=10504]

Sl. No.127
QBID:151077

Arrange the stages of urban development since initiation of the process:

(A) Suburbanization
(B) Desurbanization
(8] Re-urbanization
(D) Urbanisation

Choose the correct sequence from the options given below :
(1) (), (B). (0), (D)
(2) (D), (B). (A). (C)
(3) (D). (A). (B). (O)
@) (D), (A). (), (B)

Tt o =i o =T F1 UGEA % Ead O saaiead it

(A) I

(B)  fairm

(C) g

(D) iRt

f2u U fErwed § € 9F I @ =ad i

(1) (A B).(0). D)
(2) D), (B),A).(©)
(3) (D), (A), (B), (C)
(@) (D), (A). (), (B)

1[Option ID=10505]
2[Option ID=10506]
3[Option ID=10507]
4[Option ID=10508]

Sl. No.128
QBID:151078

Arrange the following countries in ascending order (lower to higher) by their unemployment
rate (percent of the total labor force) according to International Labour Organisation in 2020:

(A) India

(B) United States of America

(C) South Africa

[10)] Brazil

Choose the correct answer from the options given below :
1) @), B), (©), D)
(2) (A), (E:]', (_B}, ([_7'_}
3) (B, (A), (C), (D)

4) (A, (B), D), (©)




I 99 FeT & AR 2020 # frefofaa gui i 39Eht SR @ (e oW Wi w0 Siaed) &
AR SATTE 6 (Fram & To=as) % %0 § sateda i -

(A)  wmE

(B) =g TS STHME

(C)  =fqor snfimr

(D) @A

2 Mo el ® 8 59 I = =999 Fifau -

(1) (A). B). (). D)
(2) ). (C). (B). D)
(3) (B), (A), (0), (D)
(@) ). (B). D), (0

1[Option ID=10509]
2[Option ID=10510]
3[Option ID=10511]
4[Option ID=10512]

Sl. No.129
QBID:151079

Arrange the following states in descending (high to low) order in proportion of tribal
population according to 2011 census

(A) Maharashtra

(B) Madhya Pradesh
(C) Rajasthan

(D) Odisha

Choose the correct answer from the options given below :
(1) (A), (B), (C), (D)
(2) (A), (C), (B), (D)
(3) (D). (B) (C). (&)
4) (B).(©. D). A"
2011 F1 FFAI F FFEAR FEHEA SAAGE F 99 Hew I gl @ F AR (AYs ¥ wh)

(A)  HEEE

(B) TEwEm
(C) Ty
(D) A=

o0 U fashedi | H WE S 1 =9 I
(1) (A, (B). (O), (D
(2) (A (C), (B), (D)
(3) (D). (B). (C). (A)
(@) (B).(0), D). A

1[Option ID=10513]
2[Option ID=10514]
3[Option ID=10515]
4[Option ID=10516]

Sl. No.130
QBID:151080

Arrange the following States in decreasing order (higher to lower) as per their SDG Index
2020-21 published by the NITI Aayog:

(A) Kerala

(B) Himachal Pradesh

(C) Tamil Nadu

(D) Andhra Pradesh

(E) Jharkhand

Choose the correct answer from the options given below :

1)




(&), (B), (C), D), (E)
(2) (A).(C), (B), (D), (E)
(3) (A, (C). D). (B), (E)

(a) Q). D). B, (©). (E)

Hifer s grr vt ww € St 2R 2020-21 % sigEw Fefafan osat w0 s w6 (Ssaew |
foreqam) o syafega i -

(A ==

B)  fewrEe wem

(C)  wiHeETg

(D)  sgwE

(E) wmmvs

feu o faehodi ® & wel IR @1 =g it

(1) (&), (B). (C), (D), (E)
(2) (A), (C). (B). (D). (E)
(3) (A, (C), (D), (B), (E)
(4) (A), (D), (B), (O, (E)

1[Option ID=10517]
2[Option ID=10518]
3[Option ID=10519]
4[Option ID=10520]

Sl. No.131
QBID:151081

Arrange the following States in descending order (higher to lower) as per the HIV prevalence

in adult population as per the 2019 HIV Estimation Report by NACO:
(A) Andhra Pradesh

(B) Nagaland

() Manipur

[10)] Mizoram

Choose the correct answer from the options given below :

(1) (D), (B), (O), (A)
(2) (A).B). (), D)
(3) (B)., (O), D), (&)

(4) (C). (D). (B), (4




T UgH R wed (A1) 2019 1 0= o o g fOE & SHER g e § 0= e A
T F AN ffoan T H S w6 (359 | ) § @

(A) =9 W

(B) Ammers

(© =PrE

(D) firsm

fu Mo Tl § ¥ o8 I 1 =999 S

(1) (D). B). (). A)
(2) (A). (B). (©). D)
(3) B (0. D). @A)
(4) (©). (D). (B). (A)

1[Option ID=10521]
2[Option ID=10522]
3[Option ID=10523]
4[Option ID=10524]

Sl. No.132
QBID:151082

Arrange various approaches of Family Planning Programme given below, in ascending

(lower to higher) order of Five Year Plans:

(A) Extension education approach was implemented

(B) Sterilization in family planning programme was included
(C) Family planning clinics were opened

(D) Medical Termination of Pregnancies Act was implemented

Choose the correct answer from the options given below :
1) (B), (C), (D), (&)
(2) (B (C). (A), D
(3) (O). (B). (D). (A)
(4) (C), (B), (A), (D)
ftam e wrEme < & ot 1 g g & s (B 8@ =) %90 sgafen w51
(A)  feram Tarear swmm ww T )
(B) fEm fE=m srwn § = 5 e |
(C)  ofEm e it et )

(D) =1 Tafreha T sfafem e fen

e mu el § @ HE 39 w1 =99 Sifau -
(1) (B), (C). (D), (A)
(2) (B). (C). (A), (D)

(3) (C). (B). (D). (&)




(4) (C), (B), (A), (D)

1[Option ID=10525]
2[Option ID=10526]
3[Option ID=10527]
4[Option ID=10528]

Sl. No.133
QBID:151083

Arrange the initiation of the following programmes in India in chronological order:

(A) Janani Shishu Suraksha Karyakaram (JSSK)

(B) Pradhan Mantri Surakshit Matritva Abhivan (PMSMA)
(C) Janani Suraksha Yojana (JSY)

[10)] Surakshit Matritva Aaswashan (SUMAN)

(E) Labour Room Quality Improvement Initiative, (Lagshya)

Choose the correct answer from the options given below :

(1) (©), (A), (B), (E), (D)

(2) (A} (B), (C), (D), (E)
(3) (B). (D). (E). (A), (C)

(4) (D), (C), (E), (B). (A)

i 4 Frefeigs FEEa + TR F FEEHET 1 |
(A) T o e FEEE (3 TH U )

(B) LW WA Giferd Wi A0EE (d oW v )
(C) =T Fgem = (H v =)

(D) Tl ATgea ST (F)

(E) 9@ %4 TEcd 997 T5a (15

120 U el § H TR 3 F =1 A

(1) (O, A), (B), (E), (D)
(2) (A). (B). (C). (D). (B)
(3) (B). (D). (E). (A), (C)
(4) (D), (©). (B, (B). (A)

1[Option ID=10529]
2[Option ID=10530]
3[Option ID=10531]
4[Option ID=10532]

Sl. No.134
QBID:151084




The following major diseases covered by the ‘Special Survey of Causes of Deaths’ Report
2010-13 under the Sample Registration svstem using the Verbal Autopsy are given below.
Arrange these diseases in descending order (higher to lower) as per their percentage in total
deaths:

(A) Cardiovascular diseases
(B)  Respiratory diseases
(C) Perinatal conditions

(D) Malignant diseases

(E) Diarrheal diseases

Choose the correct answer from the options given below :
(1) (A), (B). (D). (E), (C)

(2) (&) (B). (C), (D). (E)

(3) Q). (B), D). (©), (E)

(4) (A (B). (C), (E), (D)
Hifias w9 TET F IWE FA U WiagE G=Ed W F siwia Hidi & Hwoi w1 fEEe w=en ol

2010-13 R F=R fohn T v I A R T E | g 3w et dial § SS9 & STEn S wm
(=2 & fr) o o -

(A) = e

(By  vo&d T

(€)  Ufee s

(D) Hferiz g8 Frers
(B)  =wfen im

f2u MU Brreal § @ T8 I @ =ae it

(1) (A), (B), (D), (E), (C)

(2) (A). (B). (C), (D). (E)

(3) (A). (B). (D). (O), (E)
(4) (A), (B), (C), (E), (D)

1[Option ID=10533]
2[Option ID=10534]
3[Option ID=10535]
4[Option ID=10536]

Sl. No.135
QBID:151085

According to census 2011, arrange the following states in descending order (high to low) by

their level of population density?
(A) Meghalaya

(B) Tripura

(C) Manipur

(D) Nagaland

(E) Sikkim

Choose the correct answer from the options given below :
(1) (&), (B), (C), (D), (E)

(2) (B). (A), (C), (D). (E)




(3) (0, A), B), (D), (B)
(4) (D), (O). (B). (A), (E)

2011 = SEr % 3w, Sefafaa s F 33 SEen we F T o =l e (3= ° ) |
™

&) HEeE

®) Bgo

(C) =g

(D) s

(E) fafem

fou o famedl ® | W I @ 9o it

1) (&), B). (C), (D), (E)
(2) (B}, (A), (C), (D), (E)
(3) (C). (), (B), (D), (E)

(4) (D). (C). (B). (A). (E)

1[Option ID=10537]
2[Option ID=10538]
3[Option ID=10539]
4[Option ID=10540]

Sl. No.136
QBID:151086

Given below are two statements : One is labelled as Assertion (A) and the other is labelled as

Reason (R) :
Assertion (A) :  Migrant labourers are the most food insecure in the city.
Reasons (R) : Nature of migrant workers are more in the form of seasonal and cyclical.

In the light of the above Statements, choose the most appropriate answer from the options

given below :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)

(2) Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)

(3) (A) is correct but (R) is not correct

(4) (A) is not correct but (R) is correct

4 71 e fom o ¥ - o iR (Assertion A) % w9 § ffEa # 1 790 366 FA0 (Reason R) F &0
e 71 e fom o # - ok SRR (Assertion A) % w9 § fofEd & & 750 366 FA0 (Reason R)F#0H
wfiEre (A) : T e i i w9 s g

F (R) : YT FETR YT A ST T = A i 2

IR FH & A H, A 7 1 Hwedt § # @98 39 I @ 99 i

(1) (A) i (R) FH &l & ST (R), (A) F 7wt = 7

(2) X SR (R)3H1 =@ £, S (R), (A) Fi = =amen 77 )

(3) (A)@E 2, dfF (R) = 74 21

(4) (A)=e 7 &, @i (R) 78 R




1[Option ID=10541]
2[Option ID=10542]
3[Option ID=10543]
4[Option ID=10544]

Sl. No.137
QBID:151087

Given below are two statements :

Statement [ :  Mosley and Chen (1984) framework considered environmental contamination

as one of the important proximate determinants of child survival.

Statement II: Environmental contamination may be measured by incidence of diarrheal

disease, prevalence of round-worm parasites and percentage of households

using toilet facilities.

In the light of the above statements, choose the most appropriate answer from the options

given below :

(1) Both Statement I and Statement IT are correct
(2) Both Statement I and Statement II are incorrect
(3) Statement I is correet but Statement II is incorrect
(4) Statement I is incorrect but Statement I1 is correct
A 2 o fom M E -
Fod (I):  w@iect S 59 (1984) wai=oia S0 $1 S &1 = St & e i aed 2
e (1) : Tatewit dguo #1 SfEn e ; Tegm w6 s i MeeE g w6
et gfErt #it afewaa g wida fe 51w 2|
I FeA A °, A B T e § O a3 s = i
(1) F°F (D) 3R (1) 21 & 8 |
(2) = (1) 2R (1) ZFT e 2 |
(3) FA (I) T &, T e (10) 7o 2|
(4) = () 7T &, il e (1) =2t 21

1[Option ID=10545]
2[Option ID=10546]
3[Option ID=10547]
4[Option ID=10548]

Sl. No.138
QBID:151088

Given below are two statements :

Statement I :  The under-five mortality is defined as the probability (5qo) that a child born

in a specific vear or time period will die before reaching the age of five.
Statement II: The computation of (5qu) depends upon the current age specific death rates.
In the light of the ahove Statements, choose the correct answer from the options given below :

(1) Both Statement I and Statement II are true
(2) Both Statement I and Statement II are false
(3) Statement I is true but Statement 11 is false

(4) Statement I is false but Statement II is true




RS wmErm s

wod (I):  9i= a5 3 FH S | qeget il afvar 36 wifiekar (5q0) % &9 § 9t & f R fafie ad
- HEAETY § S S AT ek 91 96 A W EE 0 T w8 |

o (I1) : (5qo) 1 Uik A A1 e 90 a1 7 it o 21

ITT T F AEE 5, 99 By m e § 9 98 s % = i

(1) FA (1) s (D) ZF1 9 £ |

(2) == (1) =i (II) 21 & £ |

(3) A (1) &4 2, oo % (1) s 2

(4)  mom () 3w &, af w (D) aF 21

1[Option ID=10549]
2[Option ID=10550]
3[Option ID=10551]
4[Option ID=10552]
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Given below are two statements :

Statement [ :  Mosley and Chen (1984) considered value of children under sociceconomic

proximate determinants as one of the factors of child survival.
Statement II: Value of children is important for the study of fertility behaviour.
In the light of the above Statements, choose the most appropriate answer from the options
given below :
(1) Both Statement I and Statement II are true
(2) Both Statement I and Statement II are false
(3) Statement [ is true but Statement 11 is false

(4) Statement I is false but Statement II is true

Frel & o Ru e E

FA ([): ARl 3T 9 (1984) T AT e THaey AU & a0 Sl & AF H A
FIATSIET T U T "

oA () : T G001 & A7 & o0 ATeThi o I FEeaTy w2 |

I T ® oAEE §, A4 B e fFwedt 4 9 58 3 % = S
(1) FA (D) 3 (1) ZF FT 2 |
(2) A (1) =i (1) 241 w5 & |
(3) = () & 7, o wa7 (1) 318 & |

(4) %A () ¥1Ed &, dfted %o (D) g1 2 |

1[Option ID=10553]
2[Option ID=10554]
3[Option ID=10555]
4[Option ID=10556]
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Given below are two statements:

Statement [ :  Percentage share of neonatal deaths to infant deaths is lower than the

percentage share of post neonatal deaths to infant deaths in all the states of

India.

Statement II: Percentage share of neonatal deaths to infant deaths is higher in rural than

urban areas in most of the states of India.

In the light of the above Statements, choose the correct answer from the options given below :
(1) Both Statement I and Statement IT are true
(2) Both Statement I and Statement II are false
(3) Statement I is true but Statement II is false
(4) Statement I is false but Statement I1 is true
A9 2 o fm e ¥ -
FA () :  TEa-T9 geg ¥ fory) 9o 6 wioem Sen woe we=ma gy o fim weg % wfowe s
AT H A B £ |
FoA (1) : WA % S T=ai § el e 6 oTega e dn @ s geg s i aeg
it S s 2 1
ITF FYA F A °, A= B e § 9 98 3w % 99w i
(1) FA (1) 3 (1) ZH 7 2 |
(2) e (I) 311 (I1) 5Hi s/Eea & |
(3) = (1) &e7 2, i H9a (1) 3/@e 2 |

(4) T () w9 2, Ao Feq (1) T 8 1

1[Option ID=10557]
2[Option ID=10558]
3[Option ID=10559]
4[Option ID=10560]
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Answer questions on the basis of the paragraph:

The urban population of the world has grown rapidly from 751 million in 1950 to 4.2 billion
in 2018. Asia, despite its relatively lower level of urbanization, is home to 54% of the world's
urban population, followed by Europe and Africa with 13% each. Today, the most urbanized
regions include Northern America (with 82% of its population living in urban areas in 2018),
Latin America and the Caribbean (81%), Europe (74%) and Oceania (68%). The level of
urbanization in Asia is approximating 50%. In contrast Africa remains mostly rural, with
43% of its population living in urban areas.

A few cities in Japan and the Republic of Korea have experienced population decline between
2000 and 2018. Several cities in countries of Eastern Europe, such as Polland, Romania, the
Russian Federatino and Ukraine, have lost population since 2000 as well. In addition to low
fertility, emigration has contributed to the lower population size.

The rural population of the world has grown slowly since 1950 and is expected to reach its
peak in a few vears. The global rural population is now close to 3.4 billion. Africa and Asia
are home to nearly 90% of the world's rural population in 2018. India has the largest rural
population (93 million) in the world.

Source : 2018 Revision of World Urbanisation Prospects

faa 1 w=fi wEE a9 | 9 2, W 1950 751 Tfera @ sew 2018 # 4.2 Iwe @ A TS | A
Tt FA0 F T T A v A fava 54 uidem seEen s | G #d 2, oeen an w1
HiT SR T T A 2, 9 O U H 13 W S HawE FEl F | 90dE | Eva & maias
TElihd &1 7 Sl S (2018 § WAl &1 H T A Sue 82 Wiawd SHEe Ht), ST s
wa hiteE (81 Tiaera ), T09 (74 wieem) i s (68 aieed ) afsiem = | ufEE i w6
T W S0 WiGeT 2 | S A AR AT AT SAET e 9 51 & WEl 36 43 Wiaew

S TR E B e w2 SE i FiE R % Fs v 8 2000 #2018 % de
SEE § ez A E gdl W % % e, SE-uiets, e, =6 afEe o 39 % s w8
2000 & i e 318 2| 0 I59H % e SoEeE |3 e SaEa ST 6 areE A E

1950 & fava i Fgen i 7 8 59 2 30 F5 a9 8 A9 o o ug=a F smn 2 ) Afvas e
SEE W T 3.4 fafeE 2| wfee 3R uieen 5 2018 § g it e 90 wieed SeEeE w2 |
v i fava § maifos oo s (93 faferm) 21

What is the linear annual growth rate (%) of the urban population between 1950 and 2018?

(1) 53
(2) 64
(3) 75
(4) 8.6

1950 3T 2018 = g wedt FEen $i s aifs iy 70 27
(1) 5.3

(2) 6.4

7.5

@ ™

(4) 8.6

1[Option ID=10561]
2[Option ID=10562]
3[Option ID=10563]
4[Option ID=10564]
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Answer questions on the basis of the paragraph:

The urban population of the world has grown rapidly from 751 million in 1950 to 4.2 billion
in 2018. Asia, despite its relatively lower level of urbanization, is home to 54% of the world's
urban population, followed by Europe and Africa with 13% each. Today, the most urbanized
regions include Northern America (with 82% of its population living in urban areas in 2018),
Latin America and the Caribbean (81%), Europe (74%) and Oceania (68%). The level of
urbanization in Asia is approximating 50%. In contrast Africa remains mostly rural, with
43% of its population living in urban areas.

A few cities in Japan and the Republic of Korea have experienced population decline between
2000 and 2018. Several cities in countries of Eastern Europe, such as Polland, Romania, the
Russian Federatino and Ukraine, have lost population since 2000 as well. In addition to low
fertility, emigration has contributed to the lower population size.

The rural population of the world has grown slowly since 1950 and is expected to reach its
peak in a few vears. The global rural population is now close to 3.4 billion. Africa and Asia
are home to nearly 90% of the world's rural population in 2018. India has the largest rural
population (93 million) in the world.

Source : 2018 Revision of World Urbanisation Prospects

THEATeA g e i U FN SHE WG G T Ui 0l % S G

o 1 =1 SAEEn o ¥ 59 2, S 1950 § 751 fofema § mewr 2018 © 4.2 W 9% 7 R | A
et 0 & T T F A oft o § fava i 54 vfawe s e 1§ 9w #d 2, eE an e

37 SThiE 1 T T B, oW © U9 § 13 Ued SHEE Had Al B | 90H § favd & manas

el & ° 3o st (2018 § wEh & 7 w9l sl 82 ufawa e oft), i swiem

wa hiteE (81 Tiaera ), T09 (74 wieem) i s (68 aieed ) afsiem = | ufEE i w6
T W S0 WiGe 2 | S (G AR AT AT AT e 9 51 2 WA 3ahl 43 wiaew

S TR E B e w2 SE i FiE R % Fs v 8 2000 #2018 % de
SEE § e A E gdl W % % e, SE-uiets, e, =6 afme o 3 % s w0
2000 = i e 318 2| 9 T59H % e SoEeEE 3 HE Sae S 0 AeE e E

1950 & fava i Fgen i 7 8 59 2 30 F5 a9 8 A9 o o ug=a F smn 2 ) Afvas e
SEE AW T 3.4 fafeE 2| wfee 3R uieen 5 2018 § g it e 90 wieed SeEe w2 |

A =i faza § wattas aEio sHEen (93 o) 71

What is the approximate global population in 20187
(1) 7.6 billion
(2) & billion
(3) 9 hillion
(4) 10 billion

T4 2018 # AfTaw wEEn o e 87
1) 7.6 fafemm
(2) g faferm
(3) 9 fafem
(4) 10 Faferm

1[Option ID=10565]
2[Option ID=10566]
3[Option ID=10567]
4[Option ID=10568]
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Answer questions on the basis of the paragraph:

The urban population of the world has grown rapidly from 751 million in 1950 to 4.2 billion
in 2018. Asia, despite its relatively lower level of urbanization, is home to 54% of the world's
urban population, followed by Europe and Africa with 13% each. Today, the most urbanized
regions include Northern America (with 82% of its population living in urban areas in 2018),
Latin America and the Caribbean (81%), Europe (74%) and Oceania (68%). The level of
urbanization in Asia is approximating 50%. In contrast Africa remains mostly rural, with
43% of its population living in urban areas.

A few cities in Japan and the Republic of Korea have experienced population decline between
2000 and 2018. Several cities in countries of Eastern Europe, such as Polland, Romania, the
Russian Federatino and Ukraine, have lost population since 2000 as well. In addition to low
fertility, emigration has contributed to the lower population size.

The rural population of the world has grown slowly since 1950 and is expected to reach its
peak in a few vears. The global rural population is now close to 3.4 billion. Africa and Asia
are home to nearly 90% of the world's rural population in 2018. India has the largest rural
population (93 million) in the world.

Source : 2018 Revision of World Urbanisation Prospects

forw i ol SEE o5 °@ W 2, S 1950 § 751 e @ sge 2018 ° 4.2 @ 9% A T | A
Tt FA0 F T T A v A fava 54 uidem seEen s | G #d 2, oeen an w1
FT TR 1 T A 2, T8 O U ° 13 a9 S Haw wEl w | 90AH A fava ® waras
WEFT & § I S (2018 § el &1 ¥ A 9 sEhl 82 Wiawd sHEe oft), AR i
vg i (81 W), T (74 Wiqe) 3 st (68 Hiawe) wfnte 2 | v wEi
T W S0 WiGe 2 | S (G AR AT AT AT e 9 51 2 WA 3ahl 43 wiaew
S TR E B e w2 SE i FiE R % Fs v 8 2000 #2018 % de
FEET § Tz o F gE W F FS g, A9-uids, T, =6 afEs S0 g FodHE weE |
2000 = i e 318 2| 9 T59H % e SoEeEE 3 HE Sae S 0 AeE e E

1950 & fava i Fgen i 7 8 59 2 30 F5 a9 8 A9 o o ug=a F smn 2 ) Afvas e
TAEE 79 T 3.4 fafereE 2 | ohe 3R ufven 3 2018 § fava fi e 90 witea SEen w2 |
A =i faza § wattas aEio sHEen (93 o) 71

Which among the following are important reasons for depopulation of some cities?
(A) Low fertility

(B) Low mortality

() Qut migration from the cities

(D)  Programmed for city decongestion

Choose the correct answer from the options given below :
(1) (A) and (B) only
(2) (A)and (D) only
(3) (A)and (C) only
(4) (B)and (C) only
F IE | TS % Hed & R HEeaqo FAv 8 7
(&) = v
B FEwE=
(C) w0 & =t SewaEd
(D) gl fadewem & ffa wewE
fau o el ® & wd 3w gfw -
(1) FE () B
(2) e (A) 3 (D)

(3) Had (A) R (C)
(4)




wae (B) 31T (C)

1[Option ID=10569]
2[Option ID=10570]
3[Option ID=10571]
4[Option ID=10572]
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Answer questions on the basis of the paragraph:

The urban population of the world has grown rapidly from 751 million in 1950 to 4.2 billion
in 2018. Asia, despite its relatively lower level of urbanization, is home to 54% of the world's
urban population, followed by Europe and Africa with 13% each. Today, the most urbanized
regions include Northern America (with 82% of its population living in urban areas in 2018),
Latin America and the Caribbean (81%), Europe (74%) and Oceania (68%). The level of
urbanization in Asia is approximating 50%. In contrast Africa remains mostly rural, with
43% of its population living in urban areas.

A few cities in Japan and the Republic of Korea have experienced population decline between
2000 and 2018. Several cities in countries of Eastern Europe, such as Polland, Romania, the
Russian Federatino and Ukraine, have lost population since 2000 as well. In addition to low
fertility, emigration has contributed to the lower population size.

The rural population of the world has grown slowly since 1950 and is expected to reach its
peak in a few vears. The global rural population is now close to 3.4 billion. Africa and Asia
are home to nearly 90% of the world's rural population in 2018. India has the largest rural
population (93 million) in the world.

Source : 2018 Revision of World Urbanisation Prospects

TeATAfEs e R TE AN TEE W G T 0 Uyl R IR A

farg $1 7= S99 o5 @ w591 2, 1 1950 ¥ 751 TfeeR ¥ we 2018 § 4.2 37 9% A | W
Tt w0 % T T e i ofeen | fava fi 54 wiawm s w= 8 9w w2, e e w0
A FEF H FE AE B, 9E ° U 0 13 UEE S99 HEW w1l B | 999@ § fEva w9

WELiFa & ° I S (2018 ¥ Efl & H T A STl 82 Wiew SHee i), S s
vA HfifsEa (81 wiae), 709 (74 wiqeE) i sAtEE=1 (68 gfawd) aftea 2 | eemEn weiEr w1 "
T W 50 TGO 2 | THE (i ST SO I SHET S w9 5 2 S 6 43 Tiaea
SEET TR A O T W 7| WO i e TRsT 4 Fw wed 2 2000 @R 2018 % st
e § free o £ gt W F Fo <m, SE-uids, o, S 9iEe @R g9 s T 0
2000 ® i T 27 2 | 79 7o % At sorama J e S A § JeE e 2|

1050 @ fava Fi sean ofi 7fa 9 =i 2 @0 Fo 99 7 w9 ofid @@ wg= Fioamen 2 Afvas
S S8 ST 3.4 oA 2| SRR 3R w5 2018 § fawa i e 90 wiawd Seen e A

qrd i fava § mattas g smeen (93 fafam) 21

Arrange the following regions by level of urbanization in descending order?

(A) North America

(B) Asia

(W] Europe
(D) Oceania
(E) Africa

Choose the correct answer from the options given below :
(1) (C), (4), (D). (E), (B)
(2) (B), (C). (&), (D). (E)
(3) (D). (B, (A), (C), (E)
(4) (A).(C). (D), (B). (E)




Ffefaa &et =1 Tl & =W % a0 e § saiern hif:
(A) I i

(B)  ufEEn

(© Tm

(D) =t
(E)  sthim
fou Mo Tl ® ¥ OE I 1 999 S

1) (). (A), D), (B), (B)
(2) (B), (C). (A). (D). (E)
(3) (D). (B, (A). (O), (E)

(4) (A), (O, (D), (B), (E)

1[Option ID=10573]
2[Option ID=10574]
3[Option ID=10575]
4[Option ID=10576]
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Answer questions on the basis of the paragraph:

The urban population of the world has grown rapidly from 751 million in 1950 to 4.2 billion
in 2018. Asia, despite its relatively lower level of urbanization, is home to 54% of the world's
urban population, followed by Europe and Africa with 13% each. Today, the most urbanized
regions include Northern America (with 82% of its population living in urban areas in 2018),
Latin America and the Caribbean (81%), Europe (74%) and Oceania (68%). The level of
urbanization in Asia is approximating 50%. In contrast Africa remains mostly rural, with
43% of its population living in urban areas.

A few cities in Japan and the Republic of Korea have experienced population decline between
2000 and 2018. Several cities in countries of Eastern Europe, such as Polland, Romania, the
Russian Federatino and Ukraine, have lost population since 2000 as well. In addition to low
fertility, emigration has contributed to the lower population size.

The rural population of the world has grown slowly since 1950 and is expected to reach its
peak in a few vears. The global rural population is now close to 3.4 billion. Africa and Asia
are home to nearly 90% of the world's rural population in 2018. India has the largest rural
population (93 million) in the world.

Source : 2018 Revision of World Urbanisation Prospects

fava 1 7=h e a9 @ 591 2, S 1950 § 751 faferm @ e 2018 # 4.2 e 9% A T | A
el A % e T s i vl | e i 54 wiaem s s 4 a9 e g, e e g7
HT IR T FE A 2, AN O U A 13 W S Haw i F | 90dE ° Eva  maia
Wi &1 ° I S (2018 ¥ Efl &A1 H T A ST 82 Wiowd sHee ), S st
TS it (81 wiowm), FOT (74 W) s S (68 wiom) sftm F | e wEhi
T W 50 TS 2 | THE [l ST SO A SHET a9 53 2 S 6 43 i
ST IR A 0 THE w2 | e ST FiE R % B e A 2000 3R 2018 % s
2000 = i e 2 2| 0 T99H = Afie SoEmE 3 HE S A 6 A E e E

1950 & fava i Fgen i 7fd 8 5% & 30 F5 a9 8 w9 o W ug=a F s 2 ) Afvas e
AT 59 T 3.4 foferEA 7 | oThe 3 v 8 2018 § fawa i 9 90 wfqed SEEn w2 )
ara i fava § gattas g smeen (93 fafam) 21

What percentage of rural population of the world live in India?
1) =20

(2) 24




(3) 26
(4) 28
fava it ferae wiarer avion s WA | Tt 2 Y
(1) 20
(2) 24
(3) 26
(4) 28

1[Option ID=10577]
2[Option ID=10578]
3[Option ID=10579]
4[Option ID=10580]
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Answer guestions on the basis of the following table:

(Billion) expectancy (Annual %) %) (%)
1700 0.68 27 6.0 0.50 36 4
1800 0.98 27 6.0 0.51 36 4
1900 1.65 30 52 056 a5 4
1950 252 47 5.0 1.80 34 5
2000 6.07 65 2.7 1.22 30 |
2050 892 T4 2.0 0.33 20 16
2100 9.46 81 2.0 0.04 18 21
HAAEEAT AIHE HAHE
a HTHR et TFR o= <1589 | >6599 (%
(ferferam) e (R %) (% ) )
1700 0.68 27 6.0 0.50 36 4
1800 0.98 27 6.0 0.51 36 4
1900 1.65 30 5.2 056 35 4
1950 2.52 47 5.0 1.80 34 o
2000 6.07 65 2.7 1.22 30 ¥
2050 8.92 74 2.0 0.33 20 16
2100 9.46 81 2.0 0.04 18 21

W Al T3 AT % AR W el o= gvEi & 39 e
The global TFR in 2100 will be:

(1) /3 of the TFR in 1800
(2) 1/2 of the TFR in 1950

(3) 1/4t of the TFR in 1700
(4) 1/5 of the TFR in 1900

2100 ¥ afvas TFR 8 :

(1) 1800 F TFR = 1 aqm

| =

(2) 1950 % TFR#

&=

L .

(3) 17007% TFR# i o

(4) 1900 % TFR % -1- AT
¥

1[Option ID=10581]
2[Option ID=10582]
3[Option ID=10583]
4[Option ID=10584]
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Answer gquestions on the basis of the following table:

(Billion) expectancy (Annual %) (%) (%)
1700 0.68 27 6.0 0.50 6 4
1800 0.98 27 6.0 0.51 6 4
1900 1.65 30 5.2 056 35 4
1950 2.52 47 5.0 1.80 34 5
2000 6.07 65 2.7 1.22 30 7
2050 8.92 74 2.0 0.33 20 16
2100 9.46 81 2.0 0.04 18 21
Exiiee ool S | SAEEn
EL] T e TFR Faw <1599 | >6599 (%
(Ferferem) e (i %) (% ) )
1700 0.68 27 8.0 0.50 36 4
1800 0.98 27 6.0 0.51 36 4
1900 1.65 30 5.2 056 35 4
1950 2.52 47 5.0 1.80 34 5
2000 6.07 65 2.7 1.22 30 7
2050 8.02 74 2.0 0.33 20 16
2100 9.46 81 2.0 0.04 18 21

S A TS AIfereh % SER W i i gy % I

The global population of more than 65 years in 2100 will be:

1) 7%
(2) 21%
(3) 16%

(4) 4%

2100 # 65 94 & S Afvas s=EE il

oy

(1) T
(2) 21%
(3) 16%

(4) 4%

1[Option ID=10585]
2[Option ID=10586]
3[Option ID=10587]
4[Option ID=10588]
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Answer questions on the basis of the following table:

(Billion) expectancy (Annual %) %) %)
1700 0.68 27 6.0 0.50 36 4
1800 0.98 27 6.0 0.51 36 4
1900 1.65 30 5.2 056 a5 4
1950 252 47 5.0 1.80 34 5
2000 6.07 65 2.7 1.22 30 ki
2050 892 T4 2.0 0.33 20 16
2100 9.46 81 2.0 0.04 18 21
FHAEEIT ERL = HAEE
el SR ook TFR e <1599 | >6599 (%
(ferferam) T (i %) % ) )
1700 0.68 27 6.0 0.50 36 4
1800 0.98 27 6.0 0.51 36 4
1900 1.65 30 52 056 35 4
1950 2.52 47 5.0 1.80 34 o
2000 6.07 65 2.7 1.22 30 o
2050 8.92 74 2.0 0.33 20 16
2100 9.46 81 2.0 0.04 18 21

S A T AIfereh % SER W iy e gl % I e

The global population of less than 15 vears in 1700 was:

(1)
(2)
(3)
(4)

18%
36%
s

35%

34%

1700 ® 15 % & =9 17 H1 Ifvas wa0en i

1)
(2)
(3)

(4)

18%

36%

35%

34%

1[Option ID=10589]
2[Option ID=10590]
3[Option ID=10591]
4[Option ID=10592]
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Answer questions on the basis of the following table:

(Billion) expectancy (Annual %) %) %)
1700 0.68 27 6.0 0.50 a6 4
1800 0.98 27 6.0 0.51 36 4
1900 1.65 30 5.2 056 a5 4
1950 252 47 5.0 1.80 34 5
2000 6.07 65 2.7 1.22 30 ki
2050 892 T4 2.0 0.33 20 16
2100 9.46 81 2.0 0.04 18 21
FHAEEIT ERL = HAEE
a AT i TFR Ta = <1599 | >6599 (%
(ferferam) T (i %) % ) )
1700 0.68 27 6.0 0.50 36 4
1800 0.98 27 6.0 0.51 36 4
1900 1.65 30 52 056 35 4
1950 2.52 47 5.0 1.80 34 o
2000 6.07 65 2.7 1.22 30 o
2050 8.92 74 2.0 0.33 20 16
2100 9.46 81 2.0 0.04 18 21

LA E AR % SR 9 Fefeian gie gl % I i

During 1800 and 2100 life expectany is expected to increase by:
(1) 3times
(2) 4 times
(3) 5 times
(4) 6 times

1800 1T 2100 =t 3@l § == weamn 3ig = oA &

(1) 37w
(2) 477
(3) 5T
(4) 6T

1[Option ID=10593]
2[Option ID=10594]
3[Option ID=10595]
4[Option ID=10596]
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Answer questions on the basis of the following table:

(Billion) expectancy (Annual %) %) %)
1700 0.68 27 6.0 0.50 a6 4
1800 0.98 27 6.0 0.51 36 4
1900 1.65 30 5.2 056 a5 4
1950 252 47 5.0 1.80 34 5
2000 6.07 65 2.7 1.22 30 ki
2050 892 T4 2.0 0.33 20 16
2100 9.46 81 2.0 0.04 18 21
FHAEEIT ERL = HAEE
el SR ook TFR g = <1599 | >6599 (%
(ferferam) T (i %) % ) )
1700 0.68 27 6.0 0.50 36 4
1800 0.98 27 6.0 0.51 36 4
1900 1.65 30 52 056 35 4
1950 2.52 47 5.0 1.80 34 o
2000 6.07 65 2.7 1.22 30 o
2050 8.92 74 2.0 0.33 20 16
2100 9.46 81 2.0 0.04 18 21

W & T Aifereh % snur w Frafafaa o= g % s i
The annual growth rate of global population in 2050 will be:
(1) 0.44%
(2) 0.33%
(3) 0.56%
4) 1.22%
2050 7 s waEE S aifw 9iy 5
(1)  0.44%
(2) 0.33%
(3) 0.56%
(4) 1.22%

1[Option ID=10597]
2[Option ID=10598]
3[Option ID=10599]
4[Option ID=10600]




